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PREFACE

We take an opportunity to present this treatise entitled as

to the students preparing for Degree, Diploma and other competitive examinations.

The object of this book is to present the subject with multiple choice questions and

answers with detailed explanation. This book includes previous year question papers

from

&

It is an endeavour by IITian's Pune to help aspirants who are

preparing for

&all otherCompetitive examinations.

feels immense pride in bringing out this book as

every care has been taken to make it as comprehensive as possible. In short, it is

hoped that the book will embrace the requirements of all the aspirants and will earn

appreciation of all the fellow teachers.

We are grateful to all our colleagues who are readily agreed and contributed to

this venture.We hope that this treatisewill prove as an important tool to succeed in all

Competitive examination.

Although every care has been taken to check the mistakes and misprints, yet it is

difficult to claim perfection. Any errors, omissions and suggestions for the

improvement of this treatise, brought to our notice, will be thankfully acknowledged

and incorporated in the next edition.
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PSI / STI / ASO

 1. EH$ g§»¶m 45% Zo dmT>dcr Voìhm {VMr qH$‘V 116
hmoVo Va Vr g§»¶m H$moUVr?

(1) 82 (2) 80
(3) 75 (4) 85
In a number is increased by 45% then it
becomes 116. What is the number?
(1) 82 (2) 80
(3) 75 (4) 85

[PSI Pre. : 2013]

2. A ehamV 52000 cmoH$m§n¡H$s 0.30% ì¶º$s̈H$S>o ‘moQ>ma
H$ma Amho. B ehamV 48000 cmoH$m§n¡H$s 0.25%
ì¶º$s̈H$S>o ‘moQ>ma H$ma Amho. C ehamV 50000 cmoH$m§n¡H$s
300 ì¶º$s̈H$S>o ‘moQ>ma H$ma AmhoV. Va Imcrc H$moUË¶m
gm§Ho${VH$ {MÝhmZo ¶m§Mo g§~§Y Xe©{dVm ¶ooB©c?
(1) A > B > C (2) B < A < C

(3) C < A < B (4) B < C < A
In city A, out of the 52000 persons 0.30%
have motor vehicles. In city B, out of 48000
persons 0.25% have motor vehicles. In city
C out of 50000 persons 300 have motor
vehicles. Which of the following symbols
correctly represents their relationship?
(1) A > B > C (2) B < A < C
(3) C < A < B (4) B < C < A

[PSI Pre. : 2014]

MPSC-Pre, Excise, 
Combine-B, Assistant 

3. EH$m narjoV EHy$U {dÚmÏ¶mªÀ¶m 35% {dÚmWu {hÝXr
¶m {df¶mV AZwÎmrU© Pmco; 45% {dÚmWu B§J«OrV
AZwÎmrU© Pmco Am{U 20% {dÚmWu XmoÝhr {df¶mV
AZwÎmrU© PmcoV. Va EHy$U {dÚmÏ¶mªÀ¶m eoH$S>m {H$Vr
{dÚmWu XmoÝhr {df¶mV CÎmrU© Pmco?

(1) 10 (2) 20

(3) 30 (4) 40
In an examination, 35% of the total students
failed in Hindi; 45% failed in English and
20% failed in both. What percent of total
students passed in both the subjects?
(1) 10 (2) 20
(3) 30 (4) 40

[MPSC Pre : 2013]

4. EH$m {ZdS>UyH$sV 8% ‘VXmam§Zr ‘VXmZ Ho$co Zmhr. ¶m
{ZdS>UyH$sV ’$³V XmoZM C‘oXdma hmoVo. {ZdSy>Z Amcoë¶m
C‘oXdmamg EHy$U ‘Vm§À¶m 48% ‘Vo {‘iyZ Ë¶mZo 1100
‘Vm§Zr Xþgè¶m C‘oXdmamMm nam^d Ho$cm. Va {ZdSUyH$sV
EHy$U ‘VXma {H$Vr hmoVo?

(1) 21000 (2) 23500

(3) 22000 (4) 27500
In an election, the voting power was not
used by 8% voters. There were only two
candidates in this election. The elected
candidate got 48% votes, out of the total
votes and he defeated the other candidate
by 1100 votes. How many total voters were
there in the election?
(1) 21000 (2) 23500
(3) 22000 (4) 27500

[MPSC Pre : 2013]

5. ‘mUgm§À¶m EH$m JQ>mV H$mhr OmoS>nr AmhoV. Cacoco
cmoH$ EH$EH$Q>oM AmhoV. ¶mn¡H$s {ddm{hV cmoH$m§Mr
g§»¶m 60% Amho Am{U nwéfm§Mr g§»¶m 54% Amho.
Va ¶m JQ>mV EH$EH$Q>çm {ó¶m§Mr g§»¶m {H$Vr Q> o̧$
Amho?

(1) 16 Q> o̧$ (2) 24 Q> o̧$

(3) 30 Q> o̧$ (4) 46 Q> o̧$

Percentage1
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In a group of people there are some couples.
Remaining persons are single. Out of these
60% are married and the males are 54%.
Then what is the percentage of single
females in the group?
(1) 16% (2) 24%
(3) 30% (4) 46%

[Assist Pre. : 2014]

6. Oa a 60% b Amho, b 40% c Amho, c 20% d
Amho, Va 6d ho 20a À¶m {H$Vr Q>³Ho$ Amho?
(1) 550 (2) 500

(3) 600 (4) 625
If a is 60% of b, b is 40% of c, c is 20% of
d, then what percent of 20a, is 6d?
(1) 550 (2) 500
(3) 600 (4) 625

[MPSC Pre : 2018]

7. ~±Ho$er Ho$coë¶m H$amamZwgma EH$m CÚmo{OHo$cm H$mhr
hßË¶m§V H$Om©Mr naV’o$S> H$am¶Mr Amho. 18 háo
{Xë¶mZ§Va ’$º$ 40% H$Om©Mr naV’o$S> H$am¶Mr Amho
Ago {Vcm AmT>ico. ¶mZ§Va {VZo Úm¶À¶m Cacoë¶m
hßË¶m§Mr g§»¶m {ZdS>m.
(1) 12 (2) 22

(3) 30 (4) ‘m{hVr Anwar
As per agreement of the bank, an
entrepreneur has to refund a loan in some
equal instalments without interest. After
paying 18 instalments she found that only
40% of her loan is to be refunded. Select
the number  of instalments that she requires
to pay after this.
(1) 12
(2) 22
(3) 30
(4) Inadequate information

[Excise SI : 2018]

8. dJm©Vrc 40% {dÚmÏ¶mªZr J{UVmgmR>r Am{U 70%
ŷJmocmgmR>r Zmdo Zm|Xdcr AmhoV. Oa 15% {dÚmÏ¶mªZr

J{UV d ̂ yJmoc ¶m XmoÝhrgmR>r Zmdo Zm|Xdcocr AgVrc

Va, XmoÝhr {df¶m§n¡H$s EH$hrgmR>r Zmd Z Zm|Xdcoë¶m
{dÚmÏ¶mªMr Q>³Ho$dmar {ZdS>m.

(1) 5 (2) 15

(3) 0 (4) 25
In a class, 40% of the students enrolled for
Maths and 70% enrolled for Geography. If
15% of the students enrolled for both Maths
and Geography, choose the percentage of
the students of the class which did not enrol
for either of the two subjects.
(1) 5 (2) 15
(3) 0 (4) 25

[Asst. Mains : 2019]

9. n{hë¶m dfu EH$m ehamMr cmoH$g§»¶m 8% Zo dmT>cr
d Xþgè¶m dfu 8% Zo H$‘r Pmcr. {Vgè¶m dfu nwÝhm
10% dmT> Ë¶m‘Ü¶o Pmcr. Va gwadmVrcm 1,00,000
cmoH$g§»¶m Agcoë¶m ehamMr cmoH$g§»¶m 3è¶m dfu
{H$Vr Agoc?

(1) 1,03,560 (2) 1,02,480

(3) 1,09,740 (4) 1,09,296
The population of a city increases by 8% in
the first year and decreases by 8% during
the next year and in the third year it again
increase by 10%. Find the population of the
city at the end of third year, if initially it
was 1,00,000.
(1) 1,03,560 (2) 1,02,480
(3) 1,09,740 (4) 1,09,296

[Excise SI : 2019]

10. dm{f©H$ 6% XamZo 10 ‘{hÝ¶mÀ¶m WH$sV {~cmda <
26.25 gyQ> {‘iVo. Va {~cmMr EHy$U a¸$‘ {H$Vr?

(1) < 1.575 (2) < 500

(3) < 650.25 (4) < 551.25
The true discount on a bill due 10 months
hence at 6% per annum is < 26.25. The
amount of the bill is

(1) < 1.575 (2) < 500

(3) < 650.25 (4) < 551.25
[Combine Pre. : 2020]
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 11. ~mJoMo àdoe ewëH$ 35% Zo H$‘r Ho$ë¶m‘wio ¶oUmè¶m
àdmem§Mr g§»¶m 40% Zo dmT>cr, Va àdoe ewëH$m‘wio
CËnÞmV hmoUmam ~Xc hm:

(1) 7% H$‘r Pmcm (2) 9% dmT>cm

(3) 9% H$‘r Pmcm (4) 5% H$‘r Pmcm
On reducing the entry fee by 35% in a park,
the number of visitors increased by 40%.
Then the percent increase or decrease in the
income from the entry fee is
(1) 7% decrease (2) 9% increase
(3) 9% decrease (4) 5% decrease

[Combine ‘B’ Pre. : 2021]

Tax Assistant , Clerk Typist, 
Combine-C, Ministry-Clerk

12. EH$m Mma MmH$s JmS>rMr qH$‘V é. 4,20,000 Amho.
¶m qH$‘VrÀ¶m 90% BVH$m {d‘m CVadcm. EH$m
AnKmVm‘Ü¶o JmS>rMo nyU©nUo ZwH$gmZ Pmco, Am{U ¶m‘Ü¶o
{d‘m H§$nZrZo {d‘m CVadë¶mÀ¶m ‘yi qH$‘VrÀ¶m 90%
a¸$‘ naV Ho$ë¶mg, JmS>rMr ‘yi qH$‘V d H§$nZrH$Sy>Z
{‘imcocr qH$‘V ¶m‘Ü¶o {H$Vr ’$aH$ Agoc?

(1) é. 68,800 (2) é. 72,800

(3) é. 82,800 (4) é. 79,800
[Clerk Typist : 2013]

13. EH$m JmdmVrc OZg§»¶oV n{hë¶m dfu 15% dmT> Pmcr
d Xþgè¶m dfu 10% KQ> Pmcr. Oa Ë¶m JmdmMr gÜ¶mMr
OZg§»¶m 62100 Agoc Va XmoZ dfm©nydu Ë¶m JmdmMr
OZg§»¶m {H$Vr hmoVr?

(1) 50000 (2) 70000

(3) 60000 (4) ¶mn¡H$s EH$hr Zmhr
[Clerk Typist : 2013]

14. EH$m g§»¶oV 25% Zo dmT> Ho$cr d ZdrZ g§»¶oV nwÝhm
25% dmT> Ho$cr Va EHy$U dmT> {H$Vr % ?

(1) 50% (2) 55%

(3) 55.25% (4) 56.25%
[Clerk Typist : 2013]

15. 42.5 ‘rQ>a cm§~rÀ¶m giB©nmgyZ, VodT>çmM ì¶mgmÀ¶m
85 go.‘r. cm§~rÀ¶m {H$Vr gi¶m ~ZdVm ¶oVrc?

(1) 30 (2) 40

(3) 45 (4) 50

[Clerk Typist : 2013]

16. EH$m dñVwÀ¶m qH$‘VrV 45% Zo dmT> Ho$ë¶mZ§Va Ë¶m
dñVwMr qH$‘V é. 87 Pmcr Va àma§̂ r Ë¶m dñVwMr
qH$‘V {H$Vr hmoVr?

(1) 60 é. (2) 70 é.

(3) 50 é. (4) 55 é.

[Clerk Typist : 2013]

17. EH$ ì¶º$s Amnë¶m CËnÞmMm 4% ̂ mJ AZmWmc¶mcm
XmZ H$aVmo d Cd©[aV CËnÞmMm 10% ^mJ ~±Ho$V O‘m
H$aVmo, VX²Z§Va Ë¶mÀ¶mOdi Oa é. 10800 {e„H$
amhVmV Va Ë¶mMo ‘m{gH$ CËnÞ {H$Vr?

(1) é. 12000 (2) é. 12500

(3) é. 2000 (4) é. 13000

[Clerk Typist : 2013]

18. EH$m narjmWuZo 30% JwU àmá Ho$co na§Vw Vmo 10
JwUm§Zr AZwÎmrU© Pmcm. Xþgè¶m narjmWuZo 52% JwU
àmá Ho$co Oo CÎmrU© hmoÊ¶mgmR>r cmJUmè¶m H$‘rV H$‘r
JwUm§nojm 34 OmñV AmhoV. Va CÎmrU© hmoÊ¶mgmR>r  H$‘rV
H$‘r {H$Vr Q>̧ o$ JwU Amdí¶H$ AmhoV?

(1) 33 (2) 35

(3) 30 (4) 40

[Clerk Typist : 2013]

19. Am¡ÚmoJrH$aUm‘wio Joë¶m 10 dfm©V EH$m ehamMr
cmoH$g§»¶m Xa 5 dfm©V eoH$S>m 7 Zo dmT>V Jocr. AmO
ehamMr cmoH$g§»¶m 1,14,490 Amho, Va 10 dfm©nydu
Ë¶m ehamMr cmoH$g§»¶m {H$Vr hmoVr?

(1) 1 cmI (2) 1 cmI 490

(3) 1 cmI 476 (4) 1 cmI 504

[Clerk Typist : 2014]
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1. CÎma : 2

ñnîQ>rH$aU

g‘Om ‘yi g§»¶m x ‘mZy


45

x x
100

 = 116

    
145

x
100

= 116

           x =
116

100
145



       x = 80

Explanation 

Suppose, consider real number is x.


45

x x
100

 = 116

    
145

x
100

= 116

           x =
116

100
145



       x = 80

2. CÎma : 2

ñnîQ>rH$aU

A ehamH$S>o AgUmè¶m H$ma

=
0.30

52000
100



= 156

B ehamH$S>o AgUmè¶m H$ma

=
0.25

48000
100



B = 120

C = 300

 120 < 156 < 300

B < A < C

Explanation 

City 'A' have motor vehicles

=
0.30

52000
100



= 156
City 'B' have motor vehicles

=
0.25

48000
100



B = 120
C = 300
 120 < 156 < 300
B < A < C

3. CÎma : 4

ñnîQ>rH$aU

n (A  B) = n (A) + n (B) - n (A  B)
= 35 + 45 - 20

1. (2) 2. (2) 3. (4) 4. (4) 5. (1) 6. (4) 7. (1) 8. (1) 9. (4)

10. (1) 11. (3) 12. (4) 13. (3) 14. (4) 15. (4) 16. (1) 17. (2) 18. (2)

19. (1) 20. (1) 21. (1) 22. (4) 23. (4) 24. (1) 25. (3) 26. (4) 27. (3)

28. (2) 29. (4) 30. (2) 31. (2) 32. (2) 33. (2) 34. (2) 35. (2) 36. (3)

37. (2) 38. (2) 39. (4) 40. (2) 41. (2) 42. (1) 43. (3) 44. (2) 45. (2)

46. (3) 47. (2) 48. (1) 49. (2) 50. (3) 51. (3) 52. (3) 53. (1) 54. (3)

55. (3) 56. (3) 57. (3) 58. (3) 59. (3) 60. (2) 61. (3) 62. (4) 63. (3)

64. (4) 65. (3) 66. (1) 67. (3) 68. (2) 69. (3) 70. (2) 71. (1) 72. (3)

73. (3) 74. (1) 75. (1) 76. (3)

Answers      1. Percentage

Explanations       1.  Percentage
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AZwÎmrU© {dXçmWu =  60%

 EHy$U CÎmrU© {dÚmWu = 100 - 60

= 40

Explanation 

n (A B) = n (A) + n (B) - n (A  B)
= 35 + 45 - 20

Failed students = 60%
 Total passed students = 100 - 60

= 40

4. CÎma : 4

ñnîQ>rH$aU

       EHy$U ‘Vo
         

{ZdS>UyH$s‘Ü¶o (100 - 8 = 92%) ‘VXmam§Zr ‘VXmZ
Ho$co.

qOH$cocm 
48%     

hacocm 
44%  (92 - 48)

92%

 48-44 = 4% = 1100

 x × 
4

100
 = 1100

   x =
1100 100

4



x = 27500 ‘VXma

Explanation 

       Total vote
         

In a election (100 - 8 = 92%) candidate vote

Winner 
48%     

Defeated 
44%      (92 - 48)

92%

 48-44 = 4% = 1100

 x × 
4

100
 = 1100

x = 
1100 100

4



x = 27500 voters

5. CÎma : 1

ñnîQ>rH$aU

EHy$U nwê$f = 54%

 EHy$U {ñÌ¶m = 100 - 54 = 46%

30%
nwê$f 

30%
{ó¶m 

{ddm{hV cmoH$ = 60%

 EH$Q>çm {ñÌ¶m = EHy$U {ñÌ¶m - {ddm{hV {ñÌ¶m

= 46-30

= 16%

Explanation 

Total men = 54%
 Total women     = 100 - 54 = 46%

30%
Men  

30%
Women

Married people = 60%

 Single female = Total women - Married
    women

= 46 - 30
= 16%

6. CÎma : 4

ñnîQ>rH$aU

c = 20% d

=
20

100
 × d

g‘Om d =  1000

c =  
20

100
 × 1000 = 200

b = 40% C

=
40

100
 × 200
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b = 80
a = 60% b

=
60

100
 × 80

a = 48

 6d hm 20 a À¶m {H$Vr Q>³Ho$

=
H$mUo

H$mUo mÀ¶m
 × 100

=
6d

20a
 × 100

=
6 1000

20 48




 × 100

= 125 × 5

= 625%

Explanation 

c = 20% d

=
20

100
 × d

Suppose  d  =  1000

c =  
20

100
 × 1000 = 200

b =  40% C

=
40

100
 × 200

b = 80
a = 60% b

=
60

100
 × 80

a = 48

 How many% of 6d and 20a

=
who

whose
 × 100

=
6d

20a
 × 100

=
6 1000

20 48




 × 100

= 125 × 5

= 625%

7. CÎma : 1

ñnîQ>rH$aU

60% = 18 hßVo
40% = ?
 60 × x = 40 × 18

    x =
40 18

60



   x = 12 hßVo

Explanation 

60% = 18 instalment
40% = ?
 60 × x = 40 × 18

    x =
40 18

60



   x = 12 instalment

8. CÎma : 1

ñnîQ>rH$aU

n (A  B) =  n (A) + n (B) - n (A  B)
  =  40 + 70 - 15

  =  95

 XmoÝhrn¡H$s EH$ hr gmR>r Zmd Z Zm|Xdcoë¶m
{dÚmÏ¶mªMr Q>³Ho$dmar

= 100 - 95

= 5%

Explanation 

n (A U B) =  n (A) + n (B) - n (A n B)
  =  40 + 70 - 15
  =  95

 The % of the students of the class which
did not enrol for either of the two subjects
= 100 - 95
= 5%

9. CÎma : 4

ñnîQ>rH$aU
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108
 =   (8% ) 

100
  

ZdrZ OwZr dmT

cmHo $g»§ ¶m cmHo $g§»¶m

92 110
(8% ) (10% )

100 100
 ZoKQ dmT

= 100000 × 
108 92 110

100 100 100
 

= 109296

Explanation 

     
108

New  = Old   (8% increase) 
100population population



92 110
(8% decrease) (10% increase)

100 100
 

= 100000 × 
108 92 110

100 100 100
 

= 109296

10. CÎma : 1

ñnîQ>rH$aU

dm{f©H$ 6% XamZo 10 ‘{hÝ¶mÀ¶m WH$sV {~cmda

ê$. 26.25 gwQ> {‘iVo.

 EHy$U {~cmMr a³H$‘ = ?


6

x 26.25
100

 

157.5
x

100


x = 1.575

11. CÎma : 3

ñnîQ>rH$aU

g‘Om àdoe ewëH$ = x Am{U àdmemMr g§»¶m = y
EHy$U CËnÞ = x × y

ewëH$ 35% H$‘r Ho$ë¶m‘wio (x - 0.35x) = 0.65x

àdmem§À¶m g§»¶oV 40% dmT> (y + 0.4 y) = 1.4y

Z{dZ CËnÞ = 0.65x × 1.4y = 0.91 xy

Z{dZ CËnÞmV KQ> Pmcocr {XgVo.

KQ> = 
(xy 0.91xy)

100
xy




=  0.09 × 100

=  9%

EHy$U CËnÞmV 9% KQ> Pmcr Amho.

Explanation 

Let entry free = x and
Number of visitors = y
Total income = x × y
If entry fee reduced by 35%

= x - 0.35 x = 0.65 x
Number of visitors increased by 40%

= y + 0.4 y = 1.4 y
New income = 0.65x × 1.4 y = 0.91 xy
It has been seen that, new income has been
reduced.

Percentage reduction = 
(xy 0.91xy)

100
xy




= 0.09 × 100
= 9%

Total income has been reduced by 9%.

12. CÎma : 4

ñnîQ>rH$aU

JmS>rMm {d‘m = 4 JmS>rMr qH$‘V × 90% EHy$U

=
90

420000
100



= 3,78,000 ê$n¶o

{d‘m H§$nZrZo naV Ho$ccr a³H$‘ = 
90

100
JmS rM> m 

{d‘m

  = 
90

378000
100



  = 340200

’$aH$ = JmS>rMr ‘yi qH$‘V - H§$nZr H$Sy>Z {‘imcocr
 qH$‘V

= 42,0000 - 340200

= 79800
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Simplification12

PSI / STI / ASO

1.
1 1 1 1 1 1 1 1 1

......
2 3 4 2 3 4 2 3 4
         ¶m

‘m{cHo$Vrc n{hë¶m 35 nXm§Mr ~oarO {H$Vr?

(1)
1

2
 (2)

1

2

(3)
1

4
(4)

1

4


The sum of the first 35 terms of the series

1 1 1 1 1 1 1 1 1
......

2 3 4 2 3 4 2 3 4
        

(1)
1

2
 (2)

1

2

(3)
1

4
(4)

1

4


[STI Mains : 2012]

2. Oa ab = a + b + ab  Va 8*32 Mr qH$‘V {H$Vr?

(1) 56 (2) 8

(3) 32 (4) 40

If ab = a + b + ab , then what is the value

of 8*32?
(1) 56 (2) 8
(3) 32 (4) 40

[STI Mains : 2012]

3. Imcr {Xcoë¶m 9 g§»¶m§Mr ~oarO Ho$ë¶mda ghóñWmZr
H$moUVm A§H$ ¶oB©c?

6, 66, 666, 6666, .........., 666666666

(1) 4 (2) 0

(3) 7 (4) 3

Nine numbers 6, 66, 666, 6666, ...........,
666666666 are added together in their total
which of the following number will be in
the thousandth place?
(1) 4 (2) 0
(3) 7 (4) 3

[STI Mains : 2012]

4. 0, 1, 2, 3, 4 ho A§H$ EH$Xm dmnéZ V¶ma hmoUmè¶m
gdm©V ‘moR>çm nmM A§H$r Am{U gdm©V chmZ nmM
A§H$s g§»¶oVrc ’$aH$ hm Amho.
(1) 23976 (2) 32976

(3) 39276 (4) 29376
The difference between the greatest number
and the smallest number made of 0, 1, 2, 3,
4 digits using them all but once is :
(1) 23976 (2) 32976
(3) 39276 (4) 29376

[STI Mains : 2012]

5. Oa 54  [82  (73  (15  ))] = 37, Va ''

~amo~a {H$Vr?

(1) 17 (2) 7

(3) 7 (4) 17

If  54  [82  (73  (15  ))] = 37, then ''
is equal to :
(1) 17 (2) 7
(3) 7 (4) 17

[STI Mains : 2012]

6. Oa 13 + 23 + 33 + .... + 93 = 2025, Va
(0.11)3 + (0.22)3 + (0.33)3 + ..... (0.99)3

= Mr qH$‘V {H$Vr?

(1) 0.2695 (2) 0.3695

(3) 2.695 (4) 3.695
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If 13 + 23 + 33 + ..... + 93 = 2025, then the
value of (0.11)3 + (0.22)3 + (0.33)3 + .......
(0.99)3 = ?
(1) 0.2695 (2) 0.3695
(3) 2.695 (4) 3.695

[STI Mains : 2012]

7. gmoS>dm : 
2 2

1 17 1 17
4 4

17 69 17 69
        
   

(1) 1 (2) 2

(3) 3 (4) 4

Simplify : 
2 2

1 17 1 17
4 4

17 69 17 69
        
   

(1) 1 (2) 2
(3) 3 (4) 4

[STI Mains : 2012]

8. g‘Om EH$m dJm©V OodT>o {dÚmWu AmhoV {VVHo$M én¶o
àË¶oH$ {dÚmÏ¶m©Zo Jmoim H$éZ Amnë¶m dJ©{ejH$mH$S>o
O‘m Ho$co Ë¶m‘Ü¶o dJ©{ejH$mZo < 91 KmVco d gd©
< 2116 Amnë¶m ‘w»¶mÜ¶mnH$mH$S>o O‘m Ho$co Va
àË¶oH$ {dÚmÏ¶mªZo {H$Vr én¶o O‘m Ho$co?

(1) < 44 (2) < 46

(3) < 45 (4) < 54
In a class each student collects an amount
equal to the number of students in the class.
The class teacher adds <91 and a total

amount of < 2116 is handed over to the head
master. What is the amount collected by
each student?

(1) < 44 (2) < 46

(3) < 45 (4) < 54

[STI Mains : 2012]

9. (0.3333 .....) (0.6666 .....) = ?

(1)
1

9
(2)

2

9

(3)
3

9
(4)

4

9

(0.3333 .....) (0.6666 .....) = ?

(1)
1

9
(2)

2

9

(3)
3

9
(4)

4

9

[STI Mains : 2012]

10. Imcrcn¡H$s H$moUVr g§»¶m nyU© dJ© Zmhr?

(1) 1521 (2) 2209

(3) 5776 (4) 1825
Which term is not a perfect square?
(1) 1521 (2) 2209
(3) 5776 (4) 1825

[STI Mains : 2012]

11. Oa 
x 3

y 4
  Am{U 8x + 5y = 22, Va y Mr qH$‘V

{H$Vr?

(1) 3
2 (2) 2

(3) 2
3 (4) 1

If 
x 3

y 4
  and 8x + 5y = 22, then the value

of y is?

(1) 3
2 (2) 2

(3) 2
3 (4) 1

[STI Mains : 2012]

12. nwT>rc nXmdcrMr qH$‘V {H$Vr?

53 106 33 66
26.5 16.5

2 4 2 4
53 106 106 66

16.5 16.5
2 4 4 4

    

    

(1) 255 (2) 128

(3) 43 (4) 10
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What is the value of the following
expression?

53 106 33 66
26.5 16.5

2 4 2 4
53 106 106 66

16.5 16.5
2 4 4 4

    

    

(1) 255 (2) 128
(3) 43 (4) 10

[PSI Mains : 2013]

13. 1 + 2  3  4 + 5 + 6  7  8 + .........
+ 25 + 26  27  28 Mr ~oarO {H$Vr Agoc?

(1)  27 (2)  28
(3) 27 (4) 28
What is the following sum?
1 + 2  3  4 + 5 + 6  7  8 + .......... + 25 +
26  27  28 = ?
(1)  27 (2)  28
(3) 27 (4) 28

[PSI Pre. : 2013]

14. 615 ¶m g§»¶oÀ¶m {dñVm[aV ê$nmV EH$H$ ñWmZMm A§H$
H$moUVm?

(1) 4 (2) 8

(3) 6 (4) 2
What is the unit digit of 615?
(1) 4 (2) 8
(3) 6 (4) 2

[PSI Pre. : 2013]

15. Oa 
x 7

y 5
  Va 

x y

x y


  Mr qH$‘V {H$Vr?

(1) 4 (2) 2
(3) 6 (4) 6

If 
x 7

y 5
 , then 

x y

x y


  is equal to

(1) 4 (2) 2
(3) 6 (4) 6

[PSI Pre. : 2013]

16. Oa +  = 5 Am{U 3+ 3 = 20. Va Á¶m
dJ©g‘rH$aUmMr ‘yio  Am{U  AgVrc Vo g‘rH$aU
H$m¶ Agoc?

(1) x2 + 7x  5 = 0 (2) x2  7x  5 = 0

(3) x2 + 5x  7 = 0 (4) x2  5x  7 = 0

If +  = 5 and 3+ 3 = 20, then find an
equation whose roots are  and .
(1) x2 + 7x  5 = 0 (2) x2  7x  5 = 0
(3) x2 + 5x  7 = 0 (4) x2  5x  7 = 0

[PSI Pre. : 2013]

17. 9 + 9  9  9  9 Mr qH$‘V .......... Amho.

(1) 89 (2) 79

(3) 161 (4) 81

The value of 9 + 9  9  9  9 is ..........
(1) 89 (2) 79
(3) 161 (4) 81

[PSI Pre. : 2013]

18. 2

5
?

(.1) (.5)



(1) 1000 (2) 100

(3) 5000 (4) .001

2

5
?

(.1) (.5)



(1) 1000 (2) 100
(3) 5000 (4) .001

[PSI Pre. : 2013]

19. g{MZ, gohdmJ d YmoZr ¶m§Zr {‘iyZ 228 Ymdm Ho$ë¶m.
Oa gohdmJ Zo YmoZrnojm 12 Ymdm OmñV Ho$ë¶m d
YmoZrZo g{MZnojm 9 Ymdm H$‘r Ho$ë¶m AgVrc Va
g{MZZo {H$Vr Ymdm Ho$ë¶m?

(1) 81 (2) 82

(3) 75 (4) 78
Sachin, Sehwag and Dhoni together scored
228 runs. If Sehwag scored 12 runs more
than Dhoni and and Dhoni scored 9 runs
less than Sachin. Then how many runs did
Sachin score?
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1. (4) 2. (1) 3. (3) 4. (2) 5. (2) 6. (3) 7. (4) 8. (3) 9. (2)

10. (4) 11. (2) 12. (4) 13. (2) 14. (3) 15. (3) 16. (4) 17. (1) 18. (1)

19. (4) 20. (4) 21. (4) 22. (3) 23. (4) 24. (2) 25. (3) 26. (4) 27. (3)

28. (3) 29. (2) 30. (4) 31. (2) 32. (3) 33. (3) 34. (1) 35. (4) 36. (2)

37. (2) 38. (2) 39. (2) 40. (2) 41. (1) 42. (1) 43. (3) 44. (1) 45. (3)

46. (2) 47. (2) 48. (4) 49. (3) 50. (1) 51. (3) 52. (2) 53. (2) 54. (3)

55. (3) 56. (2) 57. (2) 58. (2) 59. (#) 60. (4) 61. (1) 62. (#) 63. (3)

64. (2) 65. (4) 66. (1) 67. (1) 68. (2) 69. (2) 70. (3) 71. (2) 72. (3)

73. (1) 74. (1) 75. (3) 76. (2) 77. (2) 78. (#) 79. (3) 80. (3) 81. (1)

82. (4) 83. (3) 84. (2) 85. (4) 86. (2) 87. (1) 88. (1) 89. (3) 90. (3)

91. (2) 92. (2) 93. (2) 94. (1) 95. (3) 96. (1) 97. (2) 98. (4) 99. (2)

100. (2) 101. (1) 102. (1) 103. (2) 104. (3) 105. (2) 106. (2) 107. (4) 108. (2)

109. (2) 110. (3) 111. (3) 112. (2) 113. (1) 114. (1) 115. (3) 116. (3) 117. (1)

118. (1) 119. (1) 120. (2) 121. (1) 122. (3) 123. (3) 124. (1) 125. (4) 126. (1)

127. (1) 128. (3) 129. (2) 130. (1) 131. (3) 132. (3) 133. (2) 134. (3) 135. (2)

136. (2) 137. (3) 138. (3) 139. (3) 140. (1) 141. (2) 142. (3) 143. (1) 144. (3)

145. (1) 146. (2) 147. (1) 148. (3) 149. (3) 150. (4) 151. (2) 152. (3) 153. (2)

154. (2) 155. (2) 156. (2) 157. (3) 158. (3) 159. (4) 160. (4) 161. (3) 162. (1)

163. (3) 164. (3) 165. (4) 166. (4) 167. (3) 168. (#) 169. (3) 170. (4) 171. (3)

172. (3) 173. (4) 174. (2) 175. (3) 176. (1) 177. (3) 178. (3) 179. (2) 180. (3)

181. (1) 182. (1) 183. (1) 184. (1) 185. (2) 186. (#) 187. (3) 188. (3) 189. (2)

190. (3) 191. (4) 192. (3) 193. (2) 194. (4) 195. (3) 196. (1) 197. (4) 198. (1)

199. (2) 200. (3) 201. (3) 202. (4) 203. (2) 204. (2) 205. (2) 206. (3) 207. (4)

208. (2) 209. (3) 210. (3) 211. (2) 212. (2) 213. (4) 214. (2) 215. (4) 216. (4)

217. (3) 218. (4) 219. (2) 220. (1) 221. (1) 222. (3) 223. (3) 224. (2) 225. (4)

226. (2) 227. (4) 228. (1) 229. (2) 230. (4) 231. (2) 232. (3) 233. (2) 234. (1)

235. (1) 236. (1) 237. (1) 238. (2) 239. (2) 240. (3) 241. (1) 242. (2) 243. (4)

244. (3) 245. (1) 246. (3) 247. (2) 248. (2) 249. (2) 250. (2) 251. (3) 252. (2)

253. (3) 254. (3) 255. (2) 256. (2) 257. (2) 258. (4) 259. (2) 260. (3) 261. (2)

262. (4) 263. (1) 264. (3) 265. (4) 266. (1) 267. (3) 268. (3) 269. (4) 270. (1)

271. (2) 272. (2) 273. (2) 274. (3) 275. (3) 276. (1) 277. (2) 278. (2) 279. (1)

280. (3) 281. (4) 282. (1) 283. (2) 284. (1) 285. (3) 286. (2) 287. (1) 288. (3)

289. (1) 290. (1) 291. (1) 292. (1) 293. (3) 294. (1) 295. (3) 296. (3) 297. (3)

298. (4) 299. (2) 300. (1) 301. (4) 302. (4) 303. (1) 304. (3) 305. (2) 306. (1)

Answers      12. Simplification



185     Path of Success for Civil & Mechanical Engineering MPSC, GATE & IES

IITian’s Academy, PuneAptitude & Reasoning

Explanations       12. Simplification

1. CÎma : 4

ñnîQ>rH$aU

1 1 1 1 1 1

2 3 4 2 3 4
      hr gd© nXo H$aVmV.

¶mà‘mUo ‘m{cHo$V EHy$U 5 JQ> hmoVmV.

 {e„H$ 5 nXo =
1 1 1 1 1

2 3 4 2 3
   

=
1

4


 ¶m ‘m{cHo$V n{hë¶m 35 nXm§Mr ~oarO 
1

4


Explanation 

Given,

1 1 1 1 1 1 1 1 1
....

2 3 4 2 3 4 2 3 4
        

To find : Sum of the first 35 terms of the
series

1 1 1 1 1 1

2 3 4 2 3 4
     

                       These are the terms

 Remaining 5 terms = 
1 1 1 1 1

2 3 4 2 3
   

=
1

4


 The sum of the first 35 terms of the series is

1

4


2. CÎma : 1

ñnîQ>rH$aU

g‘Om, a = 8  d  b = 32

 8 × 32 = 8 32 8 32  

= 8 32 256 
= 8 32 16 

8× 32 = 56

Explanation 

Given,

a × b = a b ab 

To find : 8 × 32 = ?
Suppose, a = 8 and b = 32

We have, a × b = a b ab 

 8 × 32 = 8 32 8 32  

= 8 32 256 
= 8 32 16 

8 × 32 = 56

3. CÎma : 3

ñnîQ>rH$aU

6  9 = 5  4


5 hmVMm

EH$H$ ñWmZ

307. (1) 308. (2) 309. (3) 310. (2) 311. (2) 312. (2) 313. (4) 314. (3) 315. (1)

316. (2) 317. (3) 318. (1) 319. (2) 320. (1) 321. (2) 322. (3) 323. (4) 324. (1)

325. (2) 326. (3) 327. (2) 328. (3) 329. (1) 330. (3) 331. (4) 332. (3) 333. (3)

334. (4) 335. (4) 336. (2) 337. (4) 338. (3) 339. (3) 340. (2) 341. (2) 342. (4)

343. (2) 344. (1) 345. (1) 346. (2) 347. (2) 348. (1) 349. (3) 350. (4) 351. (2)

352. (1) 353. (2) 354. (3) 355. (1) 356. (1) 357. (4) 358. (1) 359. (1) 360. (3)

361. (2) 362. (3) 363. (3) 364. (2) 365. (3) 366. (2) 367. (3) 368. (1) 369. (2)

370. (2) 371. (4) 372. (3)
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6 8 = 48
+ 5 




(hmVMm)

XeH$ ñWmZ35

hmVMm

6  7 = 42
+ 5 

  


(hmVMm)

ghñÌñWmZ74

Explanation 

Given : 6, 66, 666, 6666, ......., 666666666
To find : Thousandth place = ?

Unit place46  9 = 5
6  8 = 48

+ 5 
  



Decade place35

 

6  7 = 42
+ 5 



Thousandth place74

4. CÎma : 2

ñnîQ>rH$aU

gdm©V ‘moR>r nmM A§H$s g§»¶m = 43210

gdm©V chmZ nmM A§H$s g§»¶m = 10234

’$aH$ = 43210  10234
= 32976

Explanation 

Given : 0, 1, 2, 3, 4
To find : Difference between the greatest

number and the smallest number.
Greatest Number of 5 digits = 43210
Smallest Number of 5 digits = 10234

Difference = 43210  10234
= 32976

5. CÎma : 2

ñnîQ>rH$aU

54 [82 (73 (15 *))] = 37
  54 [82 (73 15 *)] = 37
            54 [82 58 *)] = 37

                           30 + * = 37
                                   * = 37  30
                                   * = 7

Explanation 

Given : 54 - [82 - (73 - (15 - *))] = 37
To Find : '*' = ?
54 [82 (73 (15 *))]      =  37

  54 [82 (73 15 *)] = 37
            54 [82 58 *)] = 37

                54 [24 *)] = 37
                           30 + * = 37
                                   * = 37  30
                                   * = 7

6. CÎma : 3

ñnîQ>rH$aU

nÕV (1) :
= (0.11)3 + (0.22)3 + ...... + (0.99)3

= (0.11  1)3 + (0.11  2)3 + ... + (0.11 9)3

= (0.11)3 [13 + 23 + 33 + .... + 93]
= (0.11)3  2025
= 0.001331  2025

= 2.695

nÕV (2) :
1 2 3

0.11 0.22 0.33....
9 9 9
  


3 3 3 3

1 2 3 9
...

9 9 9 9
                 
       

=
3 3 3 3

3

1 2 3 ... 9

9

   

=
2025

729
= 2.695
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Explanation 

Given : 13 + 23 + 33 + ......... + 93 = 2025
To find :

(0.11)3 + (0.22)3 + (0.33)3 + (0.99)3 = ?
Method (I) :
= (0.11)3 + (0.22)3 + ...... + (0.99)3

= (0.11  1)3 + (0.11  2)3 + ... + (0.11 9)3

= (0.11)3 [13 + 23 + 33 + .... + 93]
= (0.11)3  2025
= 0.001331  2025
= 2.695
Method (II) :

1 2 3
0.11 0.22 0.33....

9 9 9
  


3 3 3 3

1 2 3 9
...

9 9 9 9
                 
       

=
3 3 3 3

3

1 2 3 ... 9

9

   

=
2025

729
= 2.695

7. CÎma : 4

ñnîQ>rH$aU

2 2
1 17 1 17

4 4
17 69 17 69

        
   

2 2(a b) (a b) 4ab   


1 17

4 4
17 69

 


69 17

4
17 69

 

 4 1
= 4

Note :
    (a + b)2 (a  b)2 = 4ab
    (a + b)2 + (a  b)2 = 2(a2 + b2)

Explanation 

Given,
2 2

1 17 1 17
4 4

17 69 17 69
        
   

To find : 
2 2

1 17 1 17
4 4 ?

17 69 17 69
         
   

2 2
1 17 1 17

4 4
17 69 17 69

        
   

2 2(a b) (a b) 4ab   


1 17

4 4
17 69

 


69 17

4
17 69

 

 4 1
= 4

8. CÎma : 3

ñnîQ>rH$aU

g‘Om EH$m dJm©V n {dÚmWu AmhoV Ë¶m§Zr n én¶o
{ejH$mH$S>o O‘m Ho$co.

 n  n + 91 = 2116
        n2 = 2116  91
        n2 = 2025

             n = 45

 àË¶oH$ {dÚmÏ¶mªZr 45 é O‘m Ho$co.

Note :

EH$H$ ñWmZr 5 AgUmè¶m g§»¶mMm dJ© H$aUo.

    XeH$ñWmZmMm A§H$ d Ë¶m cJVMr g§»¶m ¶m§Mm 
JwUmH$ma = 4  5 = 20×

452

25(4 × 5) = 2025

Explanation 

To find : What is the amount collected by
each student?

Suppose, In a class n amount students and
they collects an n amount and handed over
to the teacher.
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 n  n + 91 = 2116

        n2 = 2116  91
        n2 = 2025

             n = 45
   The amount collected by each student is 45.

9. CÎma : 2

ñnîQ>rH$aU

(0.3333)  (0.6666....)

=
1 2

3 3


=
2

9

Explanation 

To find : (0.3333)  (0.6666....)
(0.3333)  (0.6666....)

=
1 2

3 3


=
2

9

10. CÎma : 4

ñnîQ>rH$aU

(39)2 = 1521

(47)2 = 2209

(76)2 = 5776

Explanation 

To find : The term is not a perfect square?

(39)2 = 1521

(47)2 = 2209

(76)2 = 5776

11. CÎma : 2

ñnîQ>rH$aU

x 3

y 4


g‘Om x = 3k  d y = 4k

Am{U     8x + 5y = 22
   5(3k) + 5 (4k) = 22

    24k + 20k = 22

k =
22

44

k =
1

2

           y =
1

4
2



= 2

Explanation 

Given : 
x 3

y 4
  and 8x + 5y = 22

To find : y = ?

We have
x 3

y 4


Suppose
We take x = 3k,   y = 4k
and 8x + 5y = 22
             8(3k) + 5 (4k) = 22

               24k + 20k = 22

                 k =
22

44

                k =
1

2

           y =
1

4
2



= 2

12. CÎma : 4

ñnîQ>rH$aU

53 106 33 66
26.5 16.5

2 4 2 4
53 106 106 66

16.5 16.5
2 4 4 4

    


    

26.5 26.5 26.5 16.5 16.5 16.5

26.5 26.5 26.5 16.5 16.5 16.5

    


    
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3 3

2 2

a b

a ab b


 

=
2 2

2 2

(a b)(a ab b )

(a ab b )

  
 

= a  b

= 26.5  16.5

= 10
Note :

a3  b3 = (a  b) (a2 + ab + b2)
a3 + b3 = (a + b) (a2  ab + b2)

Explanation 

53 106 33 66
26.5 16.5

2 4 2 4
53 106 106 66

16.5 16.5
2 4 4 4

    


    

26.5 26.5 26.5 16.5 16.5 16.5

26.5 26.5 26.5 16.5 16.5 16.5

    


    
3 3

2 2

a b

a ab b


 

=
2 2

2 2

(a b)(a ab b )

(a ab b )

  
 

= a  b

= 26.5  16.5

= 10

13. CÎma : 2

ñnîQ>rH$aU

1 + 2  3  4 = 4
5 + 6  7  8 = 4

¶mà‘mUo ‘mcrHo$V EHy$U 7 JQ> hmoVmV.

7 (4)
= 28

Explanation 

To find : 1 + 2  3  4 + 5 + 6  7  8 + ...
+ 25 + 26  27  28 = ?

1 + 2  3  4 = 4
5 + 6  7  8 = 4

 There are 7 groups in these series.
 7 (4)

=  28

Method (II) :
1 + 2  3  4 + 5 + 6  7  8 + 9 + 10  11 
12 + 13 + 14  15  16 + 17 + 18  19  20
+ 21 + 22 - 23  24 + 25 + 26  27  28
= -28

14. CÎma : 3

ñnîQ>rH$aU

àíZmÀ¶m EH$H$ñWmZr 6 AgVmZm

6N = 6  EH$H$ ñWmZ

615 = 6

62 = 6

63 = 6

Note :

1N = 1

5N = 5  EH$H$ ñWmZ

Explanation 

Given,
615

To find : What is the unit digit of 615?
Unit location of 6 in a question.

6N = 6  Unit location

615 = 6

62 = 6

63 = 6

Note :

1N = 1

5N = 5  Unit location

15. CÎma : 3

ñnîQ>rH$aU

x = 7     d  y = 5

x y

x y




=
7 5

7 5




=
12

2
= 6
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Explanation 

Given,
x 7

y 5


To find :
x y

?
x y





x y

x y




=
7 5

7 5




=
12

2
= 6

16. CÎma : 4

ñnîQ>rH$aU

+ = 5, d 3+ 3= 20
       (a + b)3 = a3 + 3a2b + 3ab2 + b3

         a3 + b3 = (a + b)3  3ab (a + b)
3+ 3 = ( + )3  3

  
  

  

 
105

3




  +35

  
35

5



  +7

‘wim§Mr ~oarO = 5

‘wim§Mm JwUmH$ma = +7

EoH$ {ÛKmV g‘rH$aU

= x2  (‘wim§Mr ~oarO) x + (‘wim§Mm JwUmH$ma) = 0

= x2 x + 7 = 0

Explanation 

Given, + = 5, and 3+ 5= 20
To find : Find an equation whoose roots
are  and 
we know
       (a + b)3 = a3 + 3a2b + 3ab2 + b3

         a3 + b3 = (a + b)3  3ab (a + b)
3+ 3 = ( + )3  3

  
  

  

 
105

3




  +35

  
35

5



  +7

Sum of roots = 5

Products of roots = 7

The quadratic equation is

= x2  (sum of roots) x + (Product of roots)

= 0

= x2 x + 7 = 0

17. CÎma : 1

ñnîQ>rH$aU

= 9 + 9  9  9  9
= 9 + 81  1
= 89

Explanation 

To find : The value of 9 + 9  9  9  9 is
= 9 + 9  9  9  9
= 9 + 81  1
= 89

18. CÎma : 1

ñnîQ>rH$aU

2

5

(0.1) (0.5)

= 2

5

0.1 0.5

=
5

0.005
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= 6 Remaining
Case : II) 6  2

= 12  8
= 4

Case : III) 4  2
= 8  8
= 0

85. CÎma : 4

ñnîQ>rH$aU

g‘Om n{hë¶m O¶mgmR>r x JwU
 Xþgam O¶ = x + 100

Vrgam O¶ = 2 (x + 100)

 EHw$U JwU = 700
x + x + 100 + 2 (x + 100) = 700
  x + x + 100 + 2x + 200 = 700

                          4x + 300 = 700
4x = 700  300
4x = 400

  x = 100

 n{hë¶m O¶mgmR>r 100 JwU

Explanation 

Suppose, First Win = x
 Second Win = x + 100

Third Win = 2 (x + 100)
 Total Mark = 700

x + x + 100 + 2 (x + 100) = 700
    x + x + 100 + 2x + 200 = 700

               4x + 300 = 700
    4x = 700  300

      x =
400

4
 x = 100

 12 numbers of points that are first won.

86. CÎma : 2

ñnîQ>rH$aU

g‘Om, x  hm ’$º$ ñn°{Ze {eH$Vmo.

ñn°{Ze nmoVw©{JO

13x 8 (21-13=8)

 EHy$U {dÚmWu = x + 13 + 8

 43 = x + 13 + 8

   43  21 = x

   x = 22

Short Trick :

ñn°{Ze = EHy$U {dÚmWu  nmoVw©{JO
= 43  21
= 22

Explanation 

Suppose, x learn only spanish

ñn°{Ze nmoVw©{JO

13x 8 (21-13=8)

 Total Students = x + 13 + 8
             43 = x + 13 + 8
     43  21 = x
           x = 22

Hint :
Spannish = Total Students  Portuguese

= 43  21
= 22

87. CÎma : 1

ñnîQ>rH$aU

A

40
110

B x C
 nm¶WmJmoagÀ¶m à‘o¶mZwgma (A§XmOo)

   (110)2 = (40)2 + x2

  12100 = 1600 + x2

        x2 = 10500

        x  100 (A§XmOo)

 x > y ( y = 60)
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Explanation 

A

40
110

B x C

 By Pythagoras Theorem

   (110)2 = (40)2 + x2

  12100 = 1600 + x2

        x2 = 10500

         x  100 (Approximate)

 x > y ( y = 60)

88. CÎma : 1

ñnîQ>rH$aU

555.5449 ?
 (22)2 = 484

(23)2 = 529
 (24)2 = 576

 555  ho dJ©‘yi 23 d 24 À¶m Xaå¶mZ Amho.

åhUyZ n¶m©¶ 1) hm ¶mo½¶ Amho.

Explanation 

555.5449 ?
 (22)2 = 484

(23)2 = 529
 (24)2 = 576

 555 these square root in between 23 or

24.
Therefore, 1st option is correct.

89. CÎma : 3

ñnîQ>rH$aU

   
p 5

q 4
  p = 5, q = 4


3p 2q

3p 2q




 =
3 5 2 4

3 5 2 4

  
  

=
15 8

15 8




=
23

7

Explanation 

    
p 5

q 4
      p = 5, q = 4


3p 2q

3p 2q




 =
3 5 2 4

3 5 2 4

  
  

=
15 8

15 8




=
23

7

90. CÎma : 3

ñnîQ>rH$aU

g‘Om x hr g§»¶m ‘mZy,

  2x  3 = 3x + 2

3x  2x = 3  2
     x = 5

  5x  5 = ?
= 5 (5)  5

= 25  5

= 30

Explanation 

Suppose consider x is number
       2x  3  =  3x + 2

3x  2x = 3  2
     x = 5

  5x  5 = ?
= 5 (5)  5

= 25  5

= 30
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91. CÎma : 2

ñnîQ>rH$aU

H$ÞS>

‘amR>r

2 3
2

10 V‘ri 

6

EHy$U = 2 + 3 + 2 + 10 + 6

= 23

Explanation 

Kannad

Marathi

2 3
2

10 Tamil

6

Total = 2 + 3 + 2 + 10 + 6

= 23

92. CÎma : 2

ñnîQ>rH$aU

g‘Om A x

B x 2

C x 4



  
  

‘mZy

  H«$‘JV {df‘ g§»¶m

    3A = 2c  3
3x = 2(x + 4)  3
3x = 2x + 8  3

 3x  2x = 5
  x = 5

   c = x + 4

  c =  9

Explanation 

Suppose,

A x Consider

B x 2

C x 4



  
  

 Consecutive odd Numbers

    3A = 2c  3

3x = 2(x + 4)  3
3x = 2x + 8  3

 3x  2x = 5
  x = 5

   c = x + 4

  c =  9

93. CÎma : 2

ñnîQ>rH$aU

g‘Om, 91 OUm§Zm {VÝhr g‘ñ¶m§Zm Vm|S> Úmdo cmJVo.

00 31
91

0 0

61

àmoJ«°q‘J
AmdmO 
(122-91)

nmÊ¶mMr 
(152-91) = 61

 EH$Va AmdmOmMr qH$dm nmÊ¶mMr g‘ñ¶m = 31 + 61

^oS>gdUmè¶mMr g§»¶m = 92

Explanation 

Suppose,

    

00 31
91

0 0

61

Programming

Noise
(122-91)

Water (152-91) = 61

91 users faced programming problem
Noise or Water problem = 31 + 61

Consumption problem = 92

94. CÎma : 1

ñnîQ>rH$aU

P  g‘mZ d g‘ A§H$ Agcoë¶m VrZ A§H$s gd©
g§»¶m§Mr ~oarO.

Q  g‘mZ d {df‘ A§H$ Agcoë¶m VrZ A§H$s
gd© g§»¶m§Mr ~oarO.

 P = 222 + 444 + 666 + 888
= 111 (2 + 4 + 6 + 8)
= 111  20
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 Q = 111 + 333 + 555 + 777 + 999
= 111 (1 + 3 + 5 + 7 + 9)
= 111  25


Q

P
=

111 25 5

111 20 4







Q

P
 Mr qH$‘V = 

5

4

Explanation 

P  All three digits are same and having
even value

P  Sum of all three digits are same and
having odd value.

 P = 222 + 444 + 666 + 888

= 111 (2 + 4 + 6 + 8)
= 111  20

 Q = 111 + 333 + 555 + 777 + 999
= 111 (1 + 3 + 5 + 7 + 9)
= 111  25


Q

P
=

111 25 5

111 20 4






 The value of 
Q

P
 = 

5

4

95. CÎma : 3

ñnîQ>rH$aU

eonyQ> =
2

 
 
 

SmoH$ d eonQy  ¶mM§ m Xaå¶mZ ^mJ
SmHo $o$$+

    x =
7 x

7
2

    

   x = 14 + 7 + x

   x = 21

 EHy$U cm§~r = S>moHo$ + YS> + eonyQ>
= 7 + 7 + x + x
= 7 + 7 + 21 + x
= 56

Explanation 

Tail = 

The body lenght between

the head and the tail
Head

2

 
 
 

   x =
7 x

7
2

    

  2x = 14 + 7 + x

   x = 21

 Total lenght = Head + Heart + Tail
= 7 + 7 + x + x
= 7 + 7 + 21 + x
= 56 cm

96. CÎma : 1

ñnîQ>rH$aU

         L = 2 (Z + J)  10
J = 2 Z

   Z + 15 =
L

2
....(I)

     J + 5 =
L

2
....(II)

g‘rH$aU (I) d (II) dê$Z

 Z + 15 = J + 5
 Z + 15 = 2Z + 5

 2Z  Z = 15  5

Z = 10

 PrZVH$S>o gwédmVrcm 10 Zmai hmoVo.

Explanation 

               L  =  2 (Z + J)  10
J = 2 Z

   Z + 15 =
L

2
....(I)

     J + 5 =
L

2
....(II)

By equation (I) & (II)

 Z + 15 = J + 5
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 Z + 15 = 2Z + 5

 2Z  Z = 15  5

Z = 10
 10 Coconuts Zeenat had originally.

97. CÎma : 2

ñnîQ>rH$aU

g‘Om, A d B n¶ªVMo ~g ^mS>o x ‘mZy

eha A Vo eha C n¶ªVMo ~g ^mS>o y ‘mZy

2x + 3y = 77 ....(1)

3x + 2y = 73 ....(2)

g‘rH$aU (1) cm 2 Zo JwUyZ

4x + 6y = 154 .....(3)

g‘rH$aU (2) cm 3 Zo JwUyZ

9x + 6y = 219 .....(4)

g‘rH$aU (4) ‘YyZ g‘rH$aU (3) dOm H$ê$Z

9x 6 y 219

4x 6 y 154

5x 65

 
  



       x =
65

5

     x = 13

g‘rH$aU (1) ‘Ü¶o R>ody

     2  13 + 3y = 77

3y  =
57

3
  y  = 17

Explanation 

Suppose,
x = Bus coast in between A and B
y = Bus coast in between city A to city B
2x + 3y = 77 ....(1)
2x + 2y = 73 ....(2)

equation (1) multiply by 2
4x + 6y = 154 ....(3)

multiplay by eqn (II) by 3

9x + 6y = 219 ....(4)

substracting equation (3) from (4)

9x 6 y 219

4x 6 y 154

5x 65

 
  



       x =
65

5
     x = 13

equation (1) put value of x

     2  13 + 3y = 77

3y  =
57

3
  y  = 17

98. CÎma : 4

ñnîQ>rH$aU

¶oWo ’$³V 5 hm A§H$
KoD$ eH$Vmo.

A§H$mMr nwZamd¥Îmr
H$am¶Mr Zmhr

4 5 1

= 4  5  1
= 20

Explanation 

Here, only 
5 can be take

Do not repeated
digits

4 5 1

= 4  5  1
= 20

99. CÎma : 2

ñnîQ>rH$aU

e¶©VrMo A§Va x ‘mZy d cmcycm YmdÊ¶mgmR>r cmJUmam
doi y ‘mZy

doJ =
AV§ a
dio


P

V
T



 V
L

=
9 x x

0.9
10 y y


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Ages19

PSI / STI / ASO

1. "A' Mo d¶ "~' À¶m d¶mnojm {VßnQ> Amho. Mma dfm©nydu
"H$' Mo d¶ "A' À¶m Voìhm§À¶m d¶mÀ¶m XþßnQ> hmoVo.
Mma dfm©Z§Va "A' Mo d¶ 31 df} Agoc Va "~' Mo d
"H$' Mo AmOMo d¶ {H$Vr?

(1) 10, 50 (2) 10, 46

(3) 9, 50 (4) 9, 46
A' s age is three times B's age. Four years
back C's age was two times A's age at that
time. After four years 'A' will be 31 years
old. How old are 'B' and 'C' today?
(1) 10, 50 (2) 10, 46
(3) 9, 50 (4) 9, 46

[STI Pre. : 2015]

2. EH$m g§KmVrc 100 {dÚmÏ¶mªMo gamgar d¶ 60 AgyZ,
Xþgè¶m g§KmVrc 50 {dÚmÏ¶mªMo gamgar d¶ 90 Amho.
Va XmoÝhr g§K {‘iyZ 150 {dÚmÏ¶mªMo gamgar d¶
H$mT>m.

(1) 65 (2) 75

(3) 80 (4)  70
The average age of group of 100 students is
60 and for another group of 50 students, the
average age is 90. Find the average age of
combined group of 150 students.
(1) 65 (2) 75
(3) 80 (4) 70

[STI Mains : 2017]

3. EH$m ‘wcmMo d¶ Ë¶mÀ¶m d{S>cm§À¶m d¶mÀ¶m EH$ V¥Vr¶m§e
1

3
 
 
 

 Amho. 12 dfm©Z§Va Ë¶m ‘wcmMo d¶ d{S>cm§À¶m

d¶mÀ¶m {Zå‘o hmoB©c, Va Ë¶m XmoKm§Mo AmOMo d¶ {H$Vr?

(1) 12 df©, 36 df© (2) 20 df©, 40 df©

(3) 8 df©, 24 df© (4) 17 df©, 44 df©

A son's age is 
1

rd
3

 of his father's age. After

12 years the son's age is half of his father's
age. Then, what is the age of the son and
the father today?
(1) 12 years, 36 years
(2) 20 years, 40 years
(3) 8 years, 24 years
(4) 17 years, 44 years

[STI Mains : 2017]

MPSC-Pre, Excise, 
Combine-B, Assistant 

4. O¶ JoìhÀ¶m {VßnQ> d¶mMm Amho. A‘ZMo d¶ JoìhÀ¶m
d¶mÀ¶m XþßnQ> Amho. O¶ Am{U A‘ZÀ¶m XmoKm§Mr d¶o
EH$Ì Ho$cr H$s eå‘rÀ¶m d¶mMr {Z‘nQ> {‘iVo. Oa
eå‘rMo d¶ 70 Agoc, Va Joìhnojm ‘moR>²çm Agcoë¶m
kmZMo, Omo Joìhnojm XmoZ dfmªZr ‘moR>m Amho Ë¶mMo d¶
{H$Vr?

(1) 5 (2) 7

(3) 9 (4) 11
Jay is three times older than Gave. Aman's
age is twice of that of Gave. Addition of
Jaya's and Aman's age is half of Shammi's
age. If Shammi's age is 70, then what is the
age of Dyan who is two years older to Gave?
(1) 5 (2) 7
(3) 9 (4) 11

[MPSC Pre : 2015]

5. {Xì¶m, amOm, ~mZmo Am{U {‘Vm ¶m§Mo gamgar d¶ 5 df}
Amho. amOmMo d¶ 2 df} Amho, ~mZmo 6 dfmªMr Amho,
Am{U {‘VmMo d¶ 7 df} Amho. {Xì¶m, {VMr MwcV
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~hrU Z¶Zm, Z¶ZmMm ^mD$ {Zer, {VMr Xþgar MwcV
~hrU {àVr, {VMm Owim ̂ mD$ gm¡å¶ Am{U {VMm YmH$Q>m
^mD$ JwÈz> ¶m§Mo gamgar d¶ 10 df} Amho. {ZerMo d¶
"18 df} Amho, {àVr 6 dfmªMr Amho, JwÈz>  EH$ dfm©Mm
Amho.

Z¶ZmMo d¶ Xe©dUmam n¶m©¶ {ZdS>m.

(1) 14 df} (2) 16 df}

(3) 18 df} (4) 24 df}
Average age fo Divya, Raja, Bano and Mita
is 5 years. Raja's age is 2 years, Bano is 6
years old, and Mita is 7. Average are of
Divya, her cousin Naina, Naina's brother
Nishi, her other cousin Priti, her twin brother
Soumya and her younger brother Guddu is
10 years. Nishi's age is 18 years, Priti's age
is 6 years, Guddu is a year old. Chosse the
option that indicates Naina's age.
(1) 14 years (2) 16 years
(3) 18 years (4) 24 years

[Assist Pre. : 2015]

6. ghm dfmªnydu ~mnmMo d¶ ‘wcmÀ¶m d¶mÀ¶m nmMnQ>
hmoVo. Mma dfmªZr ~mnmMo d¶ ‘wcmÀ¶m d¶mÀ¶m {VßnQ>
hmoB©c. Va {H$Vr dfmªZr ~mnmMo d¶ ‘wcmÀ¶m d¶mÀ¶m
XþßnQ> hmoB©c?

(1) 40 df} (2) 24 df}

(3) 16 df} (4) 36 df}
Before 6 years father's age was five times
that of the son. After four years father's age
will be three times that of the son. After how
many years father's age will be twice that
of the son?
(1) 40 years (2) 24 years
(3) 16 years (4) 36 years

[Assist Pre. : 2016]

7. ‘wcmÀ¶m OÝ‘mÀ¶m doir gc‘mZMo d¶ 32 df} hmoVo.
nmM dfmªZr gc‘mZMo d¶ Ë¶mÀ¶m ‘wcmÀ¶m d¶mÀ¶m
{VßnQ> hmoB©c, Va gc‘mZ d ‘wcJm ¶m§Mr AmOMr
AZwH«$‘o d¶o {H$Vr?

(1) 43, 11 (2) 37, 5

(3) 43, 16 (4) 47, 11
Age of Salman was 32 years at the time of
birth of his son. After five years Salman's
age will three times of his son. So, what are
present ages of Salman and his son
respectively?
(1) 43, 11 (2) 37, 5
(3) 43, 16 (4) 47, 11

[Excise SI : 2017]

8. d{S>cm§Mo gÜ¶mMo d¶ ‘moR>çm ‘wcmÀ¶m d¶mÀ¶m XþßnQ>
Amho. Xhm dfm©Z§Va d{S>cm§Mo d¶ YmH$Q>çm ‘wcmÀ¶m
d¶mÀ¶m {VßnQ> hmoB©c. Oa Ë¶m§À¶m XmoZ ‘wcm§À¶m d¶mV
15 dfmªMo A§Va Amho. Va d{S>cm§Mo AmOMo d¶ {H$Vr?

(1) 110 df} (2) 70 df}

(3) 60 df} (4) 50 df}
The present age of the father is twice that
of the elder son. Ten years hence, the age of
the father will be three times that of the
younger son. If the difference in the ages of
the two sons is 15 years, the present age of
the father is
(1) 110 years (2) 70 years
(3) 60 years (4) 50 years

[Asst. Mains : 2019]

9. O¶m åhUVo, ""‘r Oa ‘mÂ¶m AmOnmgyZ 6 dfmªZr
hmoUmè¶m d¶mMr 6 nQ> ‘mÂ¶m 7 dfmªZr hmoUmè¶m d¶mÀ¶m
7 nQ>rV {‘idcr Va ‘mÂ¶m AmVmÀ¶m d¶mMr 14 nQ>
{‘iVo. Va AmVmnmgyZ 5 dfmªZr hmoUmao ‘mPo d¶
XmIdUmam n¶m©¶ {ZdS>m.''

(1) 85 df© (2) 80 df©

(3) 95 df© (4) 90 df©
Jaya says, "When I add 6 times my age 6
years from now to 7 times my age 7 years
from now, I get 14 times my current age.
Select the option that indicates my age, after
5 years from now. "
(1) 85 years (2) 80 years
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(3) 95 years (4) 90 years
[MPSC Pre : 2019]

Tax Assistant , Clerk Typist, 
Combine-C, Ministry-Clerk

10. aoe‘mMo d¶ {VÀ¶m ̂ mdmÀ¶m d¶mÀ¶m 
1

2
 Am{U AmB©À¶m

d¶mÀ¶m 
1

6
 nQ> Amho. ^mdmÀ¶m d AmB©À¶m d¶mVrc

’$aH$ 24 df} Agë¶mg aoe‘m d {VMm ^mD$ ¶m§À¶m
d¶m§Mr ~oarO {H$Vr?

(1) 20 df} (2) 24 df}

(3) 16 df} (4) 18 df}
[Clerk Typist : 2013]

11. AmB© d ‘wcJr ¶m§À¶m AmOÀ¶m d¶m§Mr ~oarO 60 df©
Amho. n§Yam dfm©Z§Va AmB©Mo d¶ ‘wcrÀ¶m Ë¶m doiÀ¶m
d¶mÀ¶m XþßnQ> hmoB©c Va AmB© Am{U ‘wcrMr AmOMr
d¶o H$mT>m?

(1) AmB©Mo d¶ = 40 df©

‘wcrMo d¶ = 20 df©

(2) AmB©Mo d¶ = 42 df©

‘wcrMo d¶ = 18 df©

(3) AmB©Mo d¶ = 45 df©

‘wcrMo d¶ = 15 df©

(4) AmB©Mo d¶ = 47 df©

‘wcrMo d¶ = 13 df©
[Clerk Typist : 2013]

12. ‘méVr d Ë¶mÀ¶m Mma ‘wcm§À¶m d¶m§Mr gamgar 18
Amho. gdm©V chmZ ‘wcmMo d¶ 8 df} Amho. ‘wcm§‘Ü¶o
2 - 2 dfm©Mo A§Va Amho. Va ‘méVrMo d¶ {H$Vr?

(1) 44 (2) 46

(3) 48 (4) 50
[Clerk Typist : 2014]

13. ¶e d JUoe ¶m§À¶m d¶m§Mr gamgar 13 df} Amho
Am{U JUoe d nwdm© ¶m§À¶m d¶m§Mr gamgar 20 df}

Amho. Oa nwdm© d ¶e ¶m§À¶m d¶m§Mr ~oarO 36 df}
Agoc, Va nwdm©Mo d¶ {H$Vr df} Agoc?

(1) 13 (2) 18

(3) 20 (4) 25
[Clerk Typist : 2014]

14. ‘wcmÀ¶m d¶mMr XþßnQ> Ë¶mÀ¶m d{S>cm§À¶m d¶mV
{‘idcr Va d¶m§Mr ~oarO 70 df} hmoVo Am{U d{S>cm§À¶m
d¶mMr XþßnQ> Ë¶m§À¶m ‘wcmÀ¶m d¶mV {‘idcr Va d¶m§Mr
~oarO 95 df} hmoVo. Va d{S>cm§Mo d ‘wcmMo d¶ {H$Vr?

(1) 30, 15 (2) 30, 10

(3) 40, 15 (4) 15, 30
[Clerk Typist : 2014]

15. EH$m Hw$Qw>§~m‘Ü¶o EH$m OmoS>ß¶mcm EH$ ‘wcJm Am{U EH$
‘wcJr Amho. d{S>cm§Mo d¶ Ë¶m§À¶m ‘wcrnojm {VßnQ>
Amho, Am{U ‘wcmMo d¶ Ë¶mÀ¶m AmB©À¶m d¶mÀ¶m {Zå‘o
Amho. ¶m Hw$Qw>§~mVrc nËZr {VÀ¶m nVrnojm 9 dfmªZr
chmZ Amho; Am{U ~hrU Amnë¶m ̂ mdmnojm 7 dfmªZr
chmZ Amho. Va Hw$Qw>§~mVrc AmB©Mo d¶ {H$Vr?

(1) 40 df} (2) 45 df}

(3) 50 df} (4) 60 df}
[Clerk Typist Mains : 2015]

16. em‘Mo AmOMo d¶ Ë¶mÀ¶m AmB©À¶m d¶mÀ¶m 
2

5
 nQ>

Amho. 8 dfm©Z§Va Ë¶mMo d¶ AmB©À¶m d¶mMo {Zå‘o Agoc,
Va em‘À¶m AmB©Mo AmOMo d¶ {H$Vr?

(1) 39 df} (2) 40 df}

(3) 48 df} (4) 51 df}
[Clerk Typist Mains : 2015]

17. ‘wcJm d d{S>c ¶m§À¶m AmOÀ¶m d¶mMr ~oarO 50 df}
Amho. 5 dfm©Z§Va d{S>cm§Mo d¶ ‘wcmÀ¶m d¶mÀ¶m VrZnQ>
Agoc, Va ‘wcJm d d{S>cm§Mo AmOMo d¶ {H$Vr?

(1) 10 df}, 40 df} (2) 15 df}, 45 df}

(3) 20 df}, 48 df} (4) 22 df}, 50 df}
[Clerk Typist Mains : 2017]
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 C = 50 years old
Note :

1) A persons present age is desiginated by the
initial letter of its name.

2) If ages are mentioned in past i.e before, years
back, years ago use substraction.

3) If ages are mentioned in future i.e. after,
years later than use addition.

2. CÎma : 4

ñnîQ>rH$aU

1 1 1 100

100

  A A A A
gK§ "A' =60

 A
1
 + A

2
 + A

3
 + A

4
 .... + A

100
 = 6000

1 2 3 50

50

  ~ ~ ~ ~
gK§ "~ ' =90

 ~
1
 + ~

2
 + ~

3
 + .... + ~

50
 = 4500

XmoÝhr g§K {‘iyZ 150 {dXçmWu Amho.

g§K A + g§K ~ = 
6000 4500

150



      = 
10500

150

g§K "A' + g§K "~' À¶m 150 {dXçmÏ¶mªMo gamgar
d¶ = 70

3. CÎma : 1

ñnîQ>rH$aU

‘wcmMo d¶ dS>rcm§À¶m 
1

3
 Amho.

‘ = 
1

3
 d ... (1)$

12 dfm©Z§Va ‘wcmMo d¶ d{S>cm§À¶m {Zå‘o hmoB©c,

 (‘ + 12) = 
1

2
 (d + 12) ... (2)

(1) Am{U (2) gmoS>{dë¶mda,

1
3

 d + 12 = 
1
3

 d + 6

12 - 6 = 
1
2

 d - 
1
3

 d$

   6 = 
1
6

  d

        d = 36 dfo©

‘ = 
1
3

 × 36$

 ‘ = 12 df©o

Explanation 

Son's age is 
1

3
 of his fathers age,

S = 
1

3
 F .... (1)

After 12 years, son's age is half of his fathers
age,

(S + 12) =  
1

2
 (F + 12) .... (2)

Solving (1) and (2),

    
1

(S 12) (3S 12) F 3S
2

   

2 (S + 12) = 3S + 12
    2S + 24 = 3S + 12

24 - 12 = 3S - 2S
    S = 12 yrs

 F = 3S
   = 3 × 12
F = 36 yrs

4. CÎma : 3

ñnîQ>rH$aU

O¶ JoìhmÀ¶m {VßnQ> d¶mMm Amho,

O = 3 J ....(1)

A‘ZMo d¶ JoìhmÀ¶m d¶mÀ¶m XþßnQ> Amho,
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A = 2 J ....(2)

O¶ Am{U AZ‘Mo d¶ {‘idwZ eå‘rÀ¶m d¶mMo {Z‘nQ>
Amho,

O + A = 
1

2
 e ....(3)

eå‘rMo d¶,

    e = 70 ....(4)

JoìhmÀ¶m d¶mÀ¶m XmoZ df© ‘moR>m kmZ Amho,

k = J  + 2 ....(5)

(3) Am{U (4) gmoS>dwZ,

O + A = 
1

2
 × 70 = 35 ....(6)

(1), (2) Am{U (6) gmoS>{dë¶mda,

3J + 2J = 35

5J = 35

  J = 7 df}

(5) k = J + 2

    = 7 + 2

     k = 9 df}

Explanation 

Jay is three times older than Gave
J  = 3 G .....(1)

Aman's age is twice of Gave,
A = 2 G .....(2)

Sum of Jay's and Amans age is half of
shammi's age,

1
(J A) S

2
  .....(3)

Shammi's age,
S = 70 yrs .....(4)

Dyan is two years older than gave,
D = G + 2 .....(5)

Solving (1), (2), (3) and (4)

3G + 2G = 
1

2
 × 70

   5G = 35

     G = 35
     G = 7 yrs

From equation (5).
D = G + 2
    = 7 + 2

D = 9 years old.

5. CÎma : 4

ñnîQ>rH$aU

X + a + ~ + ‘
5

4

 X + a + ~ + ‘ = 20 ......(1)

amOm = 2 df©o

~mZmo = 6 df}

{‘Vm = 7 df}

(1) X + 2 + 6 + 7 = 20

X + 15 = 20

X = 20 - 15

X = 5 df©o

{Xì¶mÀ¶m XmoZ MwcV ~{hUr Amho  Z¶Zm d {àVr

Z¶ZmMm ^mD$ {Zer = 18 df}

{àVr = 6 df} Va Vr Owim ^mD$ = 6 df} = gm¡å¶

JwS²>Sw>Mo d¶ = 1 df}

X + Z + {Z + à + g + J
=10

6

5 + Z + 18 + 6 + 6 + 1 = 60

Z + 36 = 60

       Z = 24 df}

Explanation 

D + R + B + M
= 5

4
D + R + B+ M = 20 .....(1)
Raja = 2 yrs
Bano = 6 yrs
Mita = 7 yrs
Equation (1) 
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A survey conducted among 480 students of
two colleges C1 and C2 regarding the type
of  computers they use, resulted in the
following data (table), with partial
information. It is known that the ratio of
number of students of C

1
 and that of C

2
 is 9

: 7.

EHy$U 

C1

C2 120

195

30

70

15

40

College Desktop Laptop Both None

How many students of college C
1
 have at

least one system?
(1) 195 (2) 90
(3) 315 (4) 255

[Combine Pre. 'C' : 2019]

13. nwT>rc ‘m{hVr amÁ¶mMo joÌ’$i d cmoH$g§»¶m~m~VMr
Amho.

amÁ¶ 

joÌ’$i (Mm¡. {H$‘r)

cmoH$g§»¶m (cmIm‘Ü¶o) 

A

80,000

16

B

50,000

10

C

10,000

4

D

5,000

3

gdm©V OmñV XmQ> cmoH$g§»¶m AgUmao amÁ¶ H$moUVo?

(1) A (2) B

(3) C (4) D

The following is the information of Area and
Population of States.

State

Area (in Sq.km)

Population (in Lakh)

A

80,000

16

B

50,000

10

C

10,000

4

D

5,000

3

Which is the most thickly populated State?
(1) A (2) B
(3) C (4) D

[Combine 'C' Pre. : 2021]

AMVI, CDPO, MIDC, MSRTC, 
Mahabeej

14. P, Q, R Am{U S ¶m gm¶H$cnQy>§À¶m e¶©VrV doi (t)
Am{U Ë¶m§Mr H$mnm¶Mo A§Va (d), à{Vê${nV H$aUmam
AmcoI Aä¶mgm. AÜ¶m© A§Vamn¶ªV AmKmS>rda Agocm
gm¶H$cnQ>y {ZdS>m.

     

doi

d/2 d

P
Q
R
S

A§Va
n¶m©¶r CÎmao :
(1) P (2) Q
(3) R (4) S
Study the graph that represents time (t) and
distance (d) that four cyclists P, Q, R and S
were expected to cover during the race.
Select the cyclist who was leading the race
till half the distance.

Distance

Time

d/2 d

P
Q
R
S

Answer options :
(1) P (2) Q
(3) R (4) S

[AMVI : 2020]

15. gmo~VMm EH$m g§ñWoVrc {d{dY ^mfm ~mocUmè¶m
ì¶³VtMr Q>³Ho$dmar Xe©dUmam dVw©imH$ma V³Vm Aä¶mgm.
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31%
B§{½ce

22%
‘ë¶mi‘

14%
qhXr

18%
H$ÞS>

15%
V{‘i 

n¶m©¶r CÎmao :
(1) ¶m V³Ë¶m§V g§ñWoVrc {d{dY ^mfm ~mocUmè¶m

ì¶³VtÀ¶m g§»¶o~m~V ‘m{hVr {Xcocr Zmhr.

(2) ¶m g§ñWoV B§{½ce ̂ mfm ~mocUmè¶m ì¶³VtÀ¶m JQ>
gdm©V ‘moR>m Amho.

(3) ¶m g§ñWoVrc 29% ì¶³Vr EH$Va V{‘i qH$dm
qhXr ^mfm ~mocVmV Ago åhUVm ¶oB©c.

(4) Vº$m EH$nojm A{YH$ ̂ mfm ~mocUmè¶m ì¶º$s¨À¶m
Q>̧ o$dmarMr ‘mhrVr XoVmo.$

Study the accompanying pie chart showing
the percentages of persons speaking
different languages in one institute.
Select the false statement with respect to it
from the given alternatives.

31%
English

22%
Malyalam

14%
Hindi

15%
Tamil

18%
Kannada

Answer options :
(1) Information about the number of

persons from the institute speaking
different languages is not given in this
chart.

(2) Group of persons speaking English is
largest in this institute.

(3) It can be said that 29% people from this
institute speak either Tamil or Hindi.

(4) The chart gives information about the
percentages of persons who speak more
than one language.

[AMVI : 2020]
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PSI / STI / ASO

1. CJdVrÀ¶m {XeoZo 5 {H$.‘r. A§Va MmcyZ Joë¶mda amYm
COdrH$S>o dicr, gai 4 {H$.‘r. A§Va Mmcë¶mda
Vr S>mdrH$S>o dicr. AmUIr 4 {H$.‘r. A§Va
Mmcë¶mda Vr Y«wd Vmè¶mH$S>o nmR> {’$adyZ 8 {H$.‘r.
A§Vamda Wm§~cr. Va ‘yi {R>H$mUmhÿZ Vr gdm©V Odi
{H$Vr A§Vamda Agoc?
(1) 9 {H$.‘r. (2) 12 {H$.‘r.
(3) 15 {H$.‘r (4) 21 {H$.‘r.
After walking 5 km. towards rising direction
Radha turns to right. After going straight 4
km. she turns to left. After walking 4 km.
more she turns her back to the polar star,
and stopped after 8 kms. What will be the
shortest distance of her current position
from the starting point?
(1) 9 km. (2) 12 km.
(3) 15 km. (4) 21 km.

[STI Mains : 2012]

2. AmH¥$VrMo ZrQ> {ZarjU H$am d CÎma {chm.
{d‘mZmMr pñWVr AmH¥$VrV XmIdcocr Amho. {d‘mZ
'A' 'E' n¶ªV B ‘mJ} OmVo; 'B' 'E' n¶ªV A ‘mJ} OmVo;
'C' 'E' n¶ªV A ‘mJ} OmVo; 'D' 'E' n¶ªV G ‘mJ} OmVo;
'G' 'E' n¶ªV F ‘mJ} OmVo; 'F' 'E' n¶ªV G ‘mJ} OmVo;
'F' 'E' n¶ªV G ‘mJ} OmVo. d 'H' 'E' n¶©V G ‘mJ}
OmVo. gd© {d‘mZo Amnë¶m ‘yi ñWmZmnmgyZ {ZKmë¶mda
AÜ¶m© VmgmZr Amnë¶m BpÀN>V ñWim§À¶m ‘Ü¶m§Var
H$moR>o AgVrc?
{d‘mZmMm doJ, {ZKÊ¶mMr doi, gd© ñWmZm§Vrc A§Va
g‘mZ Amho.

B D

E
A G

C F

H S

W

E

N

Imcr {Xcoë¶m CÎmamVrc H$moUVo {dYmZ gË¶ Amho?

(1) 'A' ho 'D' À¶m Z¡F$Ë¶og Amho.

(2) 'A' ho 'D' À¶m B©emÝ¶og Amho.

(3) 'C' ho 'A' À¶m CÎmaog Amho.

(4) 'F' ho 'A' À¶m Am¾o¶og Amho.
Observe the given diagram carefully and
answer the question.
From the position given in the diagram,
plane 'A' goes via B to airport 'E'; 'B' goes
via A to 'E'; 'C' goes via A to 'E'; 'D' goes via
G to 'E', 'G' goes via F to 'E', 'f' goes via G to
'E' and 'H' goes via G to 'E'. After half an
hour of their starting time when they are
midway to their destinations, indicate which
one of the following is true?
The speed, the starting time of all the planes
and the distances between any two
neighbouring airports are the same.

B D

E
A G

C F

H S

W

E

N

Which one of the following statements is
correct?
(1) 'A' is Sourth-West of 'D'
(2) 'A' is North-East of 'D'.
(3) 'C' is to the North of 'A'
(4) 'F' is South-East of 'A'.

[PSI Mains : 2013]

3. am‘ KamnmgyZ 15 {H$‘r X{jUoH$S>o Jocm d nyd}H$S>o
diyZ 10 {H$‘r Jocm Z§Va CÎmaoH$S>o diyZ 5 {H$‘r
A§Va MmcV Jocm d nwÝhm npíM‘ocm 10 {H$‘r MmcV
OmdyZ Wm§~cm. Va am‘ KamnmgyZ H$moUË¶m {Xeocm d
{H$Vr A§Vamda Amho?

Direction22
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(1) CÎmaocm 15 {H$‘r (2) CÎmaocm 10 {H$Vr

(3) X{jUocm 10 {H$‘r (4) X{jUocm 15 {H$‘r
Ram went 15 km to the South from his
house and then he turned to the East and
walked 10 km. Afterwards turning to the
North, he walked 5 km and again turned to
the West and walked 10 km and stopped.
Then at how much distance and in what
direction is Ram now from his house?
(1) 15 km to the North
(2) 10 km to the North
(3) 10 km to the South
(4) 15 km to the South

[PSI Pre. : 2014]

4. nwT>rc ‘m{hVr Aä¶mgyZ àíZmMo CÎma {chm.

(A)A  B åhUOo A hr B À¶m S>mdrH$S>o 1 ‘rQ>ada
Amho.

(~) B  C åhUOo B hr C À¶m X{jUocm 1 ‘rQ>ada
Amho.

(H$) C  D åhUOo C hr D À¶m COdrH$S>o 1 ‘rQ>ada
Amho.

(S>) D  E åhUOo D hr E À¶m CÎmaocm 1 ‘rQ>ada
Amho.

(B) darc gd© pñWVrV S>mdrH$Sy>Z n{hë¶m ì¶³VrMo
Vm|S> CÎmaocm Amho.

darc AW© nwT>rc A{^ì¶³VrgmR>r M  N  T

dmnê$Z M À¶m g§X^m©V T H$moUË¶m {Xeocm Amho ho
emoYm?

n¶m©¶r CÎmao :

(1) dm¶ì¶ (2) Z¡F$Ë¶

(3) B©emÝ¶ (4) Am¾o¶
Study the following information and answer
the question given below :
(a) A  B means A is 1 km to the left of B.
(b) B  C means B is 1 km to the south of

C.
(c) C  D means C is 1 km to the right of

D.

(d) D  E means D is 1 km to the North of
E.

(e) In all the above situations first person
from the left is facing North.

Using the above meaning for the expression
M  N  T; find in which direction T is
with respect to M?
Answer options :
(1) North West (2) South West
(3) North East (4) South East

[Asst. Mains : 2014]

5. EH$ ZXr CÎmaoH$Sy>Z X{jUocm dmhVo Amho. ¶m ‘mJm©V Vr
S>mdrH$S>o diVo d Q>oH$S>r^modVr AY©dVy©i H$aVo Am{U
Z§Va S>mdrH$S>o H$mQ>H$moZ H$ê$Z diVo d dmhÿ cmJVo. ¶m
{R>H$mUr ZXr H$moUË¶m {XeoZ dmhVo Amho?

(1) CÎma (2) X{jU

(3) npíM‘ (4) nyd©
A river flows from north to south. On the
way it turns left and go in semicircle round
hillock and then it furns left at right angle
and continues to flow. In what direction the
river is flowing at this point?
(1) North (2) South
(3) West (4) East

[STI Pre. : 2016]

6. ZraO hm n{íM‘oH$S>o Vm|S> H$ê$Z C^m hmoVm. Vmo VoWyZ 9
‘rQ>a CÎmaoH$S>o Jocm, S>mdrH$S>o diyZ 7 ‘rQ>a gai
MmcV Jocm Ë¶mZ§Va S>mdrH$S>o diyZ 9 ‘rQ>a gai
MmcV Jocm. nwÝhm COdrH$S>o diyZ Vmo 5 ‘rQ>a gai
MmcV Jocm Va VoWyZ gwê$dmVrÀ¶m {R>H$mUr gai MmcV
OmÊ¶mg Ë¶mcm {H$Vr A§Va H$mnmdo cmJoc?

(1) 12 ‘rQ>a (2) 14 ‘rQ>a

(3) 16 ‘rQ>a (4) 18 ‘rQ>a
Niraj-was standing facing West, from that
point he went 9 meters to North. After taking
left turn he walked 7 meters straight then
turning left again he walked 9 meters
straight. Then he took right turn and walked
5 meters straight. How many meters will
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he needs to walk straight to reach the starting
point?
(1) 12 meters (2) 14 meters
(3) 16 meters (4) 18 meters

[STI Mains : 2016]

7. EH$ ‘Y‘mer gH$mir {VMo nmoio gmoS>Vo Am{U CÎma
{Xeocm 30 {‘{ZQ>o CS>ë¶mZ§Va EH$m ~mJoV nmohMVo d
{VWo 10 {‘{ZQ>o ‘Y Jmoim H$aVo. Ë¶mZ§Va Vr nyd© {Xeocm
40 {‘{ZQ>o CS>Vo Am{U Xþgè¶m ~mJoV 15 {‘{ZQ>o ‘Y
Jmoim H$aVo. Ë¶mZ§Va Vr gdm©V OdiÀ¶m ‘mJm©Zo {VÀ¶m
nmoù¶mnmer naV ¶oVo. g‘Om ‘Y‘merMm CS>Ê¶mMm doJ
{VÀ¶m CS>Ê¶mÀ¶m àdmgmV EH$g‘mZ hmoVm, Va ‘Y‘mer
{H$Vr H$mi Amnë¶m nmoù¶mnmgyZ Xÿa hmoVr?

(1) 145 {‘. (2) 135 {‘.

(3) 125 {‘. (4) 115 {‘.
A bee leaves its hive in the morning and
after flying for 30 minutes due north reaches
a garden and spends 10 minutes there
collecting honey. Then it flies for 40 minutes
due east and collects honey in another
garden for 15 minutes. Then it returns to
the hive taking the shortest route. Assuming
that the speed of the bee was constant
throughout its flight, how long the bee was
away from its hive?
(1) 145 min. (2) 135 min.
(3) 125 min. (4) 115 min.

[STI Mains : 2017]

8. EH$ ‘mUyg 15 {H$‘r X{jUoH$S>o Mmccm Am{U Z§Va
COdrH$S>o dicm Z§Va 13 {H$‘r MmcyZ Vmo S>mdrH$S>o
dicm Am{U 25 {H$‘r Mmccm Z¡‘ÌË¶ AmVm Vmo
Ama§^ ñWimÀ¶m H$moUË¶m {Xeocm Amho?

(1) Z¡F$Ë¶ (2) B©emÝ¶

(3) CÎma (4) X{jU
A man walks 15 km towards south and then
turns to the right. After walking 13km, he
turns to the left and walks 25 km. In which
direction is he from the starting place now?

(1) South-west (2) North-east
(3) North (4) South

[STI Mains : 2017]

9. S, T, U, V, W, X Am{U Y ho EH$‘oH$m§Zm g‘m§Va

añVo AmhoV. añVm S hm, añVm T À¶m X{jUoH$S>o 
1

km
2

da Amho. añVm U hm, añVm V À¶m CÎmaoH$S>o 1 km da

Amho. añVm W hm, añVm X À¶m CÎmaoH$S>o 
1

km
2

 da

Amho. añVm W hm, añVm Y À¶m X{jUoH$S>o 1 km da

Amho. W hm V À¶m X{jUoH$S>o 
1

km
2

 da Am{U T

À¶m CÎmaoH$S>o 1 km da Amho. añË¶m§À¶m Á¶m OmoS>rVrc

A§Va 
3

km
2

Zmhr, Aer OmoS>r {ZdS>m.

(1) U, W (2) V, T

(3) U, X (4) X, Y
S, T, U, V, W, X and Y are the streets parallel

to each other. Street S is 
1

km
2

to the south

of street T, street U is 1 km to the north of

street V, street W is 
1

km
2

to the north of

street X, street W is 1 km to the south of

street Y, W is 
1

km
2

to the south of V and 1

km to the north of T. Select the pair of streets

which is not
3

km
2

apart.

(1) U, W (2) V, T
(3) U, X (4) X, Y

[PSI Mains : 2018]

10. {Xem gm¶H$cdê$Z {VÀ¶m KamÀ¶m 2 {H$‘r X{jUocm
{VMr ‘¡{ÌU ‘ocZrcm ̂ oQ>m¶cm {VÀ¶m Kar Jocr. VoWyZ
Ë¶m XmoKr npíM‘ocm 5 {H$‘r da ‘hmê$Icm ^oQ>m¶cm
{VÀ¶m Kar ñdV§Ì gm¶H$ctdê$Z Joë¶m. VoWyZ Ë¶m {VKr
‘¡{ÌUr ñdV§Ì gm¶H$ctdê$Z 2 {H$‘r CÎmaocm, 11
{H$‘r nyd}cm, 2 {H$‘r X{jUocm Am{U eodQ>r 5 {H$‘r
npíM‘ocm Joë¶m. ¶m {R>H$mUmnmgyZ Ë¶m§Zr EH$mM doir,
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Lion

CowTiger

Case 1

      

Rabbits

Horses

Case 2

     

Case 3

Tiger Lion

Cow

Conclusion (a) : is wrong
Conclusion (b) : ho Case 1 gmR>r A¶mo½¶,

‘mÌ Case 3 gmR>r ¶mo½¶ R>aVo.
na§Vw Ho$di EH$m Case 1
gmR>r ¶mo½¶ R>aUmar
Conclusion / {ZîH$f© hr
Syllogism ‘Ü¶o wrong/
A¶mo½¶ YaVmV.

Conclusion (c) : is wrong
Conclusion (d) : is also wrong
 darcn¡H$s EH$hr {ZîH$f© ¶mo½¶ R>aV Zmhr.

5. CÎma : 4

ñnîQ>rH$aU

From given condition,

Case 2

’$io

^mÁ¶m

Case 1

’$io

^mÁ¶m

(Fruits)

(Vegetables)

Case (1) and Case (2) Mr {‘iyZ EH$M case

V¶ma hmoVo.

’$io

^mÁ¶m

Ia~wO

Case 3

Conclusion (a) : is wrong
Conclusion (b) : is wrong
Conclusion (c) : is true from case (2)
Conclusion (d) : is true from case (3)

 {ZîH$f© (c) d (d) XmoÝhr VH©$g§JV.

6. CÎma : 2

ñnîQ>rH$aU

From given condition,
Chairs Benches

Table

Case 1
Table Chairs

Case 2
Bench

Note/Hint :

Oo {ZîH$f©/Conclusion XmoÝhr Case gmR>r ¶mo½¶[aVrZo
Match (OwiVrc) hmoVrc VoM Conclusion ¶mo½¶
Yaë¶m OmVrc.
Conclusion (ii) :
Is true for case (1) and case (2)
Conclusion (i), (iii) :
Is true for only case (2)

 Only conclusion (ii) is Right.

7. CÎma : 3

ñnîQ>rH$aU

From given condition,

Case 1 Case 2

Hospitals Gyms Field Stadium

Case 3

StadiumHospitals



579     Path of Success for Civil & Mechanical Engineering MPSC, GATE & IES

IITian’s Academy, PuneAptitude & Reasoning

 Conclusion (ii) and (iv) : are true from
case (3).

(ii) H$mhr Or‘ ñQ>o{S>¶‘ ZmhrV,

H$maU  H$mhr Or‘ øm XdmImZm (Hospi-

tals) Mm ^mJ Amho.

(iv) H$mhr eoVr XdmImZm ZmhrV.

H$maU  H$mhr eoVr øm Stadium Mm ^mJ
Amho.

Am{U Case (3) gm§JVo - H$moUVmhr XdmImZm
ñQ>o{S>¶‘ Zmhr.

8. CÎma : 2

ñnîQ>rH$aU

O§³eZo

Vmn‘mnrh±Ja

X¡Z§{XZr
Case 1

X¡Z§{XZrh±Ja

O§³eZo Vmn‘mnr

Case 2
 Conclusion : (1), (2) and (3) are true from

case 2.
 Conclusion : (2) is true from case (1)

 Option (2) ‘Ü¶o Ho$di Conclusion (2) Mm
CëcoI Agë¶mZo.

 Am¶moJmÛmao n¶m©¶ (2) - Only (1) or (2) is

correct Ago CÎma XoÊ¶mV Amco.

9. CÎma : 4

ñnîQ>rH$aU

From given,

noZ no{ÝgcH$mJX

nwñVH$
ImoS>a~a

Case 1

Case 2

nwñVH$

H$mJX

ImoS>a~a

no{Ýgc
noZ

Conclusion : I  d II ‘Ü¶o Satisfied hmoVmV.

nU Case 1 ‘Ü¶o EH$hr Conclusion AZwgaU H$aV
Zmhr.

 I, II, III d IV gd©M AZwgaU H$aV Zmhr.

10. CÎma : 4

ñnîQ>rH$aU

From given data,

   

{dÚmWu

B§{O{Z¶a

S>m°³Q>a

{ejH$

Case 1
Conclusion : I, II & III  are satisfied from
case 1.

Except IV, all the conclusion follow.

11. CÎma : 3

ñnîQ>rH$aU

Jmoc

{ÌH$moU

Mm¡H$moZ

àíZ : "gd© Jmoc Mm¡H$moZ Amho'.
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(All shapers are rectangles.)

àíZmVrc ‘m{hVrdê$Z ImÌrZo gm§JVm ¶oV Zmhr.
Option (3) Cannot be said definitely.

12. CÎma : 4

ñnîQ>rH$aU

From given data,

B

J

P

C

Case 2Case 1

B

J

P

C

Case (1) : Only conclusion/{ZîH$f© (b) is true.

Case (2) : Conclusion (a) and (c) is true.
 From conclusion (a), (b) and (c) no one

can satisfied both case (1) and case (2).

 EH$hr {ZîH$f© gË¶ Zmhr.

13. CÎma : 4

ñnîQ>rH$aU
{ejH$

g§emoYH${ejUVk

Case 1

{ejUVk
{ejH$

g§emoYH$

Case 2

 AZw‘mZ IV/Conclusion IV is satisfied in

both case 1 and case 2.

 n¶m©¶ H«$. (4) ‘Ü¶o Conclusion IV Mm CëcoI
Agë¶mZo,

Am¶moJmZo n¶m©¶ H«$. (4) (’$³V III d IV AZw‘mZo
gË¶) ho CÎma {Xco.

14. CÎma : 1

ñnîQ>rH$aU

From given condition,

Case 1

Hw$Ìo
~H$ao

PmS>o

 Conclusion I : Case 1 ‘Ü¶o ¶mo½¶ ~gVo.
Conclusion II, III, IV :
Not satisfied case 1.

 Only Conclusion I follows.

15. CÎma : 1

ñnîQ>rH$aU

‘amR>r

qhXr

H$ÞS>JwOamVr

B§{½ce

Figure(a)/AmH¥$Vr (a) Mo H$miOr nyd©H$ {Z[ajU
Ho$ë¶mg Ago cjmV ¶oVo.

H$mhr ì¶³VtMm JQ> hm "5' hr ̂ mfm ~mocUmam Amho. 

¶mdê$Z {ZîH$f©/Conclusion (a) ho MyH$ Amho.

{ZîH$f© (a) {edm¶ EH$hr Zmhr.

16. CÎma : 1

ñnîQ>rH$aU

Case 1

PmS>o
Q>moß¶m
’$m§Úm

 {ZîH$f© (a), (b) d (d) ho Case 1 Zwgma ~amo~a.

 n¶m©¶ (1)
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17. CÎma : 1

ñnîQ>rH$aU

Case 1 Case 2

G
X

B

T T
G
X
B

Case 1 ‘Ü¶oo : Conclusion (c) and (d) True.

Case 2 ‘Ü¶o : Conclusion (a), (b), (c) & (d)
True.

 Conclusion/{ZîH$f© : (c) d (d) are true in

both case 1 and case 2.

18. CÎma : 2

ñnîQ>rH$aU

From given condition,

~ë~

hmoëS>a
ñdrM

ßcJ

Case 1
{Xcoë¶m {ZîH$fm©Mm Aä¶mg Ho$ë¶mg - Case 1 M
‘¶m©{XV Amho CÎmamn¶ªV nmohMÊ¶mgmR>r.

{ZîH$f© I : Always wrong

{ZîH$f© II : ho ‘mÌ ¶mo½¶ R>aVo.

19. CÎma : 3

ñnîQ>rH$aU

From given condition,

añVo

~gog

H$ma
{Xdg

amÌr

Case 1

añVo

~gog

H$ma

{Xdg

amÌr

Case 2
’$³V Conclusion II ho Case 1 d Case 2 XmoÝhr
gmR>r ¶mo½¶/True R>aVo.

20. CÎma : 2

ñnîQ>rH$aU

From given condition,

B

L

T

Case 1 

 Conclusion I is true from case 1
 Only I is correct

21. CÎma : 4

ñnîQ>rH$aU

àíZmV {Xcoë¶m A{Q>Zwgma {Vgao {dYmZ ho AJmoXaÀ¶m
XmoZ {dYmZm§dê$Z AZw‘mZ Xe©{dUmao Amho.

n¶m©¶ 1 Zwgma  S> H$ A 

{H«$Ho$Q>

A‘rV
‘wcJr

n¶m©¶ 2 Zwgma  H$ B ~ 

 {H«$Ho$Q>‘wco ‘wcJr

n¶m©¶ 3 Zwgma A ~ S> 
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Find the code of 'C R E A T E'
(1) i l p k h p (2) j l p h i p
(3) i l h k h n (4) i k p l h p

[STI Pre. : 2014]

16. {Xcoë¶m ì¶dñWoMm Aä¶mg H$am.

R 4 P I J M Q 3 % T @  U K 5 V 1 W $ Y

2 B E 6 # 9 D H 8 G  Z N

Cnamoº$ ì¶dñWoÀ¶m AmYmamda nwT>rc e¥§IcoVrc H«$‘mZo
¶oUmao Z§VaMo nX H$moUVo?

¶mo½¶ n¶m©¶ {ZdS>m.

P J Q ; T  K ; 1 $ 2 ; ?

(1)  6 9 H (2) 6 9 D

(3) 6 9 8 (4) 6 # D
Study the given system.
R 4 P I J M Q 3 % T @  U K 5 V 1 W $ Y
2 B E 6 # 9 D H 8 G  Z N
What will be the next term in the following
series, on the basis of the above system?
P J Q ; T  K ; 1 $ 2 ; ?
(1) 6 9 H (2) 6 9 D
(3) 6 9 8 (4) 6 # D

[STI Pre. : 2014]

17. Imcr A§H$/àVrH$ Am{U Ë¶m§Mo dUm©ja g§Ho$V {Xcoco
AmhoV. VgoM H$mhr AQ>r {Xcoë¶m AmhoV. AQ>tÀ¶m
AYrZ amhÿZ {Xcoë¶m A§H$/àVrH$ g‘yhmMm Aja g§Ho$V
Agcocm ¶mo½¶ n¶m©¶ {ZdS>m.

A§H$/à{VH$ :
1 # $ 9 8 6 % @  7

2 4  3 5

Aja H$moS>  :
B D E N I V R G H K

T J P F A

AQ>r :

(a) Oa g‘yhmVrc n{hco Am{U A§{V‘ nX, XmoÝhr
{df‘ A§H$ AgVrc Va XmoKm§Mo 'Y' À¶m ê$nmV
g§Ho$VZ H$amdo.

(b) Oa nm{hco nX EH$ à{VH$ Am{U A§{V‘ nX EH$
g‘g§»¶m Agoc Va n{hë¶m Am{U A§{V‘ nXm§Mo
g§Ho$V nañna ~XcmdoV.

(c) Oa n{hco nX EH$ {df‘ A§H$ Am{U A§{V‘ nX
EH$ à{VH$ Agoc Va XmoKm§Mo 'Z' À¶m ê$nmV
g§Ho$VZ H$amdo.

(d) Oa n{hco nX g‘ A§H$ Am{U A§{V‘ nX EH$
{df‘ A§H$ Agoc Va XmoKm§Mo {df‘ A§H$ g§Ho$VmZo
ê$nm§Va H$amdo.

A§H$/à{VH$ g‘yh :

6 % @  9 # 3

n¶m©¶r CÎmao :

(1) V R G N D F (2) F R G N D F

(3) Y R G N D F (4) Z R G N D F
Number/Signs and their alphabet codes are
given. Some conditions are also given.
Considering the conditions, select the
correct letter-code option for the given
number/sign group.
Number/Signs :
1 # $ 9 8 6 % @  7
2 4  3 5
Letter codes :
B D E N I V R G H K
T J P F A
Conditions :
(a) If the first and the last term of the group

are odd numbers, then code them both
as 'Y'.

(b) If the first term is a sign and the last
term is an even number then
interchange the codes of first and last
term.

(c) If the first term is an odd number and
last term is a sign, then code both as 'Z'.

(d) if the first term is an even number and
last term is an odd number, then code
both by the code of odd number :

Number/sign group is :
6 % @ 9 # 3
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Answer Options :
(1) V R G N D F (2) F R G N D F
(3) Y R G N D F (4) Z R G N D F

[STI Pre. : 2014]

18. àíZmW©H$ {MÝhmZo (?) Xe©{dcoco nX dJicocr EH$
Ajag‘yh ‘m{cH$m {Xcocr Amho. ho dJicoco nX
{Xcoë¶m n¶m©¶m§n¡H$s EH$ Amho. Vo emoYm.

AGMSY; CIOUA; EKQWC; (?); IOUAG;
KQWCI

(1) GMSYE (2) FLRXD

(3) GLMXE (4) GMSEY
There is a letter group series with one term
missing as shown by (?). This term is given
as one of the alternatives. Find this term.
AGMSY; CIOUA; EKQWC; (?); IOUAG;
KQWCI
(1) GMSYE (2) FLRXD

(3) GLMXE (4) GMSEY

[STI Mains Jun. : 2014]

19. Imcrc ì¶dñWoMm Aä¶mg H$am.

 7 D 5 # A B 1 % K $ 4 E J F 3  2 H I @ L

6 Q U  9 M T 8 W

¶m ì¶dñWoVrc ñWmZmÀ¶m AmYmamda Imcrc nmM n¡H$s
Mma, {d{eï> àH$mao g‘mZ AgyZ EH$ doJim Amho. Vmo
doJim emoYm.

a. K41 b. HF
c. #B5 d. M8
e. LQI

(1) e (2) d

(3) c (4) b

Study the system.
7 D 5 # A B 1 % K $ 4 E J F 3  2 H I @ L
6 Q U  9 M T 8 W
On the basis of position in the above system,
the four out of following five are the same
in some way and one is different. Find the
different one

a. K41 b. HF
c. #B5 d. M8
e. LQI
(1) e (2) d
(3) c (4) b

[STI Mains Jun. : 2014]

20. Vw‘À¶m S>mdrH$Sy>Z gwédmV H$ê$Z Oa àË¶oH$ EH$ gmoSy>Z
EH$m OmoS>rVrc Ajam§À¶m ñWmZm§Mr AXcm~Xc nwT>o
{Xcoë¶m ‘m{cHo$V Ho$cr Va H$moUVo Aja Aem AjamÀ¶m
S>mdrH$Sy>Z gmVdo ¶oB©c Oo Vw‘À¶m COdrH$Sy>Z Vaomdo
Amho?

E T H K W D S B U M C X J A N R V O Y
I L P Z G Q F

(1) B (2) D

(3) S (4) W
Starting from your left if positions of letters
of every alternative pair of letters are
interchanged in the following sequence
which letter will be seventh to the left of
the letter which is thirteenth from your rigth
in new the sequence?
E T H K W D S B U M C X J A N R V O Y
I L P Z G Q F
(1) B (2) B
(3) S (4) W

[STI Mains : 2014]

21. EH$m gm§Ho${VH$ ^mfoV R A M Am{U T H E M

AZwH«$‘o,

 Am{U  

Ago {c{hco OmVo

Va Imcrc H$moS> H$m¶ Xe©doc?

(1) H E A R T (2) T R E A T

(3) T H R E E (4) H E R T T

In a code language R A M and T H E M are
written as :
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 and 

respectively. What will indicate the
following code?

(1) H E A R T (2) T R E A T

(3) T H R E E (4) H E R T T

[PSI Mains : 2014]

22. ': :' À¶m S>mdrH$S>rc XmoZ nXm§‘Ü¶o Omo g§~§Y Amho,
VmoM COdrH$S>rc XmZo nXm§‘Ü¶o Amho. àíZmW©H$ {MÝhmZo
Xe©{dcoco nX Jhmi AgyZ Vo {Xcoë¶m n¶m©¶m§n¡H$s EH$
Amho. Vo emoYm.

T R P N : ...?... :: F D B Z : Y W U S

(1) K M J H (2) E H G I

(3) M K I G (4) K M I H

There is some relationship between the two
terms to the left of ': :' and the same
relationship exists between the two terms
to its right. One term shown by question
mark (?) is missing and is given as one of
the alternatives. Find it.
T R P N : ...?... :: F D B Z : Y W U S
(1) K M J H (2) E H G I
(3) M K I G (4) K M I H

[PSI Mains : 2014]

23. àíZmW©H$ {MÝhmZo (?) Xe©{dcoco nX Jmicocr EH$
Aja g‘yh ‘m{cH$m {Xcocr Amho. {Xcoë¶m n¶m©¶m§‘YyZ
Jmicoco nX emoYm.

p r t ; ...?... ; b d f ; h j l ; n p r

(1) v x z (2) u x w

(3) x z b (4) u w y

A letter group series is given, with one term
missing, as shown by question mark (?).
Find out the missing term of the given
alternatives.
p r t ; ...?... ; b d f ; h j l ; n p r
(1) v x z (2) u x w

(3) x z b (4) u w y

[PSI Mains : 2014]

24. EH$m gm§Ho${VH$ ^mfoV "open the door' ho "ka te

jo' Ago {c{hco OmVo. "door is closed' ho "jo pa

ma' Ago Am{U "this is good' ho "la ra pa' Ago
{c{hco OmVo. Va "closed' Mm g§Ho$V H$moUVm?

(1) ma (2) pa

(3) jo (4) ka
In a code 'open the door' is written as 'ka te
jo', 'door is closed' is written as 'jo pa ma'
and 'this is good' is written as 'la ra pa'. Then
what is the code of 'closed'?
(1) ma (2) pa
(3) jo (4) ka

[PSI Mains : 2014]

25. Oa EXCEL = 93596 Agoc, PAINT = 74128

Agoc, Va ACCEPT = ?

(1) 735961 (2) 455978

(3) 547978 (4) 554978

If EXCEL = 93596 and PAINT = 74128,
then ACCEPT = ?
(1) 735961 (2) 455978

(3) 547978 (4) 554978

[PSI Pre. : 2014]

26. Oa EH$m gm§Ho${VH$ ^mfoV 'Super' hm eãX HFKVI

Agm {c{hVmV, Va 'Market' hm eãX H$gm {chmc?

(1) NZIPVG (2) NXIPVG

(3) NYIPUG (4) NZIQVG

In a certain code lanugage if 'Super' is coded
as HFKVI, then 'market' will be coded as :
(1) NZIPVG (2) NXIPVG
(3) NYIPUG (4) NZIQVG

[STI Pre. : 2015]

27. n{hë¶m ñV§^mVrc eãX Xþgè¶m ñV§^mV g§Ho$V ñdê$nmV
{c{hco AmhoV, na§Vw Vo Ë¶mM H«$‘mZo {c{hcoco ZmhrV.
D ¶m AjamMm g§»¶m g§Ho$V H$moUVm?
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 
Y T O J E

-4 -4 -4 -4

 Ans = YTOJE

51. CÎma : 2

ñnîQ>rH$aU

From given condition,

Observing column (I) & (II) carefully we
get.
ROTATE  ihhpok, TREAT  khlph
COUP  moij, TIE  hrp
TYRE   nhpk, TAPE  pmlh
 T = h, E = P, A = I, R = K, C = i,

O = o, P = m
 REACT = kplih
 Ans = kplih

52. CÎma : 2

ñnîQ>rH$aU

CY,    EV,    LS,    RJ,    WM,   DJ

-2 -2 -2 -2 -2

QP

HA,   LD,    OG,   QP,   VM,    ZP 

+2 +2 +2 +2 +2

RJ

 Ans = RJ, QP

53. CÎma : 2

ñnîQ>rH$aU

Given,
P A T N W G X M Q I R C H K J S Y U L Z
V B F O

Series/‘m{cH$m : P O Z T; ? ; JYJR, LCRU

P O Z T ; X V U G
+5

-2

-1 +2

X V U G ; H Y J R
+5

In this series,

n{hco Aja  +5Zo dmT>Vo.

Xþgao Aja  -2, -3, -4 ....

{Vgao Aja  -1, -2, -3 .....Am{U

Mm¡Wo Aja  +2, +4, +6 .....

Zo V¶ma hmoVo.

 Ans = XVUG

54. CÎma : 3

ñnîQ>rH$aU

From given condition,

A3Z, E8Y, I18X, ?

A,  E,  I  A,  E,  I,  M 

+3 +3 +3

3,   8,   18  3,  8,  18,  38 

(3×2+2) 
(18×2+2)

(8×2+2) 

Z,  Y,  X  Z,  Y,  X,  W 

-1 -1 -1

 Ans = M 38 W

55. CÎma : 3

ñnîQ>rH$aU

When we observed the given series care-

fully; we found that, from this symbol 

the pattern repeated.

{MÝhm§Mr JQ>m‘Ü¶o {d^mJUr H$ê$Z nwZamd¥Îmr hmoUmam
n°Q>Z© emoYë¶mg  ¶m Z§VaMm {MÝhm§À¶m JQ>mMm
{dMma Ho$ë¶mg, "?' À¶m OmJr "' Ago {MÝh
¶oB©c.

"'  C^o amhm/Stand UP

 Ans : C^o amhm/Stand UP
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56. CÎma : 1

ñnîQ>rH$aU

JEWQR : (?) : : (?) : OYQFR

J E W Q R

L C Y O T
+1 -1 +1 -1 +1

M A O H P

O Y Q F R
+1 -1 +1 -1 +1

Ans = LCYOT, MAOHP

57. CÎma : 2

ñnîQ>rH$aU

green alliance formed   

join clean alliance 

green clean peace 

 Ans =    Clean

58. CÎma : 1

ñnîQ>rH$aU

From given Data

M O N D A Y

P R Q G D B


U E S D A Y

W X H V G D B
+2 +2

[A, B, C ...... X,  Y,  Z, A,  B,  C, D ....]

+2

  Ans = WXHVGDB

59. CÎma : #

ñnîQ>rH$aU

gXa àíZ Am¶moJmÛmao (MPSC) aX²X H$aÊ¶mV Amcm
Amho.

60. CÎma : 2

ñnîQ>rH$aU

A§H$-à{VH$ g‘wh/Symbol : $ 1 8 9 6 :

{Xcoë¶m AQ>tn¡H$s H$moUVrhr AQ øm A§H$/à{VH$

g‘whmgmR>r cmJw hmoV Zmhr.

None of the given condition is applied for
this symbolic group, therefore gave letter
codes to symbol as per given in question.



$ 1 8 9 6 

R Q J T N 

RQJTNH

 Ans = RQJTNH

61. CÎma : 2

ñnîQ>rH$aU

From given condition,
1st : 125 64 33
2nd : 282 X 39

- 1st row : 125  64   33
125 - 64 = 61 ...... Condition (iv)
61 + 33 = 94 = x ....Condition (iii)

 x = 94
- 2nd row : 282  X  39
 282 94     39 .... Put x = 94
 282  94 = 3 .... Condition (v)

3 + 39 = 42        ...from condition (iii)

 Xþgè¶m AmoirMo ‘wë¶/Value of 2nd

Row = 42

 Ans = 42

62. CÎma : 4

ñnîQ>rH$aU

nX/term : mmn ho ‘m{cH$m (d) Aja‘m{cHo$Vrc
Amho.

ayb, bxc, cwd, dve, ..........mmn


ayb, bxc, cwd, dve, euf, ftg,  gsh,
hri,   iqj,   jpk,  kol, lnn, mmn, .....

Middle letter : y, x, w, v, u, t, s, r, q, p ....

'mmn'ho nX - ‘m{cH$m (d) À¶m Aja‘mcoVrc
Amho.

 Ans = 42 mmn
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63. CÎma : 2

ñnîQ>rH$aU

From given data,

yak  le  di  sky is blue.

mok se le   blood is red.

mok pi di  sky and blood

 blood  mok

 Ans = mok

64. CÎma : 2

ñnîQ>rH$aU

From given data
pik  da  pa   where are you
da  na   ja   you may come
na  ka  sa  he may go
 na  may, da  you
 Ja  come
 Ans = Ja

65. CÎma : 2

ñnîQ>rH$aU

From given series,

...?... ; EILNO ; IMPRS ; MQTVW ;

QUXZA
A B C D E F G H  I J K L M

Z Y X W  V U T S R  Q P O N

E I L N O A E H J K
(+3)         (+3)

I M P R  S E I L N O

 Ans : AEHJK

66. CÎma : 3

ñnîQ>rH$aU

From given,

KGLFT  PTOUG

A B C D E F G H  I J K L M
  

Z Y X W  V U T S R  Q P O N

 MERSA  NVIHZ

 Ans = NVIHZ

67. CÎma : 2

ñnîQ>rH$aU

Given series =

R % E 5 D 2 # 9 A F B @ J 3 I K M 4 1 W U

8 V  N G Z  6 7 * 
-1 +2

-1 +2

Group :

a) @ I F 
b) G 8
c) U 1
d) # F D 




are follows
particular pattern

But group (b) I 4 @ is follows different pat-
tern.
 Ans = I4@

68. CÎma : 3

ñnîQ>rH$aU

Given no. series =

7560, 10 _ _. 1 _ _, 36, 9, 3
Divided the No.series :
 7,  6,  5,  4,  3

7560

7
 = 1080,

1080

6
= 180,

180

5
 = 36,  

36

4
 = 9  and  

9

3
 = 3

69. CÎma : 3

ñnîQ>rH$aU

From given,



745     Path of Success for Civil & Mechanical Engineering MPSC, GATE & IES

IITian’s Academy, PuneAptitude & Reasoning

1 2 3 4 5 6 7 8 9 10 11 12 13
A B C D E F G H  I J K L M

Z Y X W  V U T S R  Q P O N

26 25 24 23 22 21 20 19 18 17 16 15 14

4A 6C 2E

6P 13R 7T

8N 10P ?

 {Xcoë¶m AmH¥$Vrdê$Z,

Oa 1st  Am{U 3rd Mr ~oarO Ho$cr Va 2nd column

CÎma {‘iVo.

 4 + 2 = 6

6 + 7 = 13
8 + x = 10

    x = 2

Alphabet ¶m§Mm g§~§Y nm{hcm AgVm Ago cjmV
¶oVo H$s,

A C E+2 +2

P R T+2 +2

N P R+2 +2

 CÎma = n¶m©¶ (2) ~amo~a

Explanation 

 From given figure,
If we add 1st and 3rd column we get - 2nd

column.
 4 + 2 = 6

6 + 7 = 13
8 + x = 10

   x = 2
From Alphabet we conclude that,

A C E+2 +2

P R T+2 +2

N P R+2 +2

 Correct option is (2)

46. CÎma : 3

ñnîQ>rH$aU

48 6 56

5 8 7

40 ? 112

 {Xcoë¶m AmH¥$Vrdê$Z,

8 × 6 = 48, 8 × 5 = 40,   8 × 7 = 56

8 × 14 = 112

47. CÎma : 1

ñnîQ>rH$aU

5
2
6
3

16

4
6
4
5

19

6
4
8
4

22

5
8
6
6

25
Sum is increased by constant value i.e. by

'3'.

48. CÎma : 4

ñnîQ>rH$aU

àíZmVrc AmH¥$VrV g§~§{YV g§»¶m OmoS>ë¶mg S>mdrH$S>o
Or AmH¥$Vr V¶ma hmoB©c AJXr VerM AmH¥$VrV
COdrH$S>o g§~§YrV g§»¶m KodyZ V¶ma hmoVo.

2109 : 41213  2, 10, 9  4, 12, 13
951015 : (1381218)  9, 5, 10, 15

    13, 8, 12, 18
 Option (4) 13,8,12,18 is correct answer.

49. CÎma : 4

ñnîQ>rH$aU

30

3

5 7

46

5

7 11 17

98

13

?
     (1)                (2)                  (3)

From fig. 1  7 + 5 + 3 = 15 × 2 = 30
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From fig. 2  7 + 5 + 11 = 23 × 2 = 46

From fig. 3  13 + 17 + x = 49 × 2 = 98

 30 + x = 49

 x = 19

50. CÎma : 4

ñnîQ>rH$aU

1 2 3 4 5 6 7 8 9 10 11 12 13
A B C D E F G H  I J K L M

Z Y X W  V U T S R  Q P O N
26 25 24 23 22 21 20 19 18 17 16 15 14

14
A C C

B

50

D

E E ? G

F
    (i) (ii)           (iii)
From fig (i) 12 + 22 + 32 = 1 + 4 + 9 = 14
From fig (ii) 32 + 42 + 52 = 9 + 16 + 25 = 50
From fig (iii) 52 + 62 + 72 = 25 + 36 + 49

= 110

51. CÎma : 3

ñnîQ>rH$aU

23 = 8

33 = 27

43 = 64

53 = 125

63 = 216

73 = 343

 CËVa = 343

52. CÎma : 3

ñnîQ>rH$aU

1

2

5

6

3

X

13

4

31
  2 + 3 + 1 = 6

  3 + 4 + 6 = 13

1 + 6 + 5 = 12

6 + 13 + 12 = 31

   x = 12

53. CÎma : 2

ñnîQ>rH$aU

From given condition ({Xcoë¶m AQ>rdê$Z)

(81  9) - (56  7) = 9 - 8 = 1

(36  9) - (27  9) = 4 - 3 = 1

Ë¶mMà‘mUo,

(36  3) - (27  9) = 12 - 3 = 9

   9

27

9

3 36

54. CÎma : 1

ñnîQ>rH$aU

Imcrc g§»¶m

= (darc g§»¶m§À¶m JwUmH$mamMr XþßnQ>) - 1

(6 × 4) Mr XþßnQ> - 1 = 48 -1 = 47

(7 × 8) Mr XþßnQ> - 1 = 112 - 1 = 111

(9 × 5) Mr XþßnQ> - 1 = 90 - 1 = 89

Ë¶mMà‘mUo,

(6 × 7) Mr XþßnQ> - 1 = 84 - 1 = 83

 CÎma = 83

55. CÎma : 2

ñnîQ>rH$aU

5 9

106

8 7

113

7 2

?

(1)   (2)            (3)

From fig 1)  52 + 92 = 25 + 81 = 106

From fig 2)  82 + 72 = 64 + 49 = 113

From fig 3)  72 + 22 = 49 + 4 = 53
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56. CÎma : 2

ñnîQ>rH$aU

78 15 6

94 13  4

59  14 ?

1st Row  78 7 + 8 = 15  1 + 5  6

2nd Row  94 9 + 4 = 13  1 + 3  4

3rd Row  59 5 + 9 = 14  1 + 4  5

57. CÎma : 1

ñnîQ>rH$aU

darc XmoZ g§»¶m§Mr ~oarO hr ImcÀ¶m g§»¶oÀ¶m 7
nQ> Amho.

The addition of above two number is mul-
tiple of 7 of 3rd number.
 From fig 1)  38 + 25 = 63

 
63

7
 = 9

From fig 2)  59 + 18 = 77

 
77

7
 = 111

58. CÎma : 2

ñnîQ>rH$aU

15
63

12
?
10 20

5

From fig.
3 × 2 = 6, 10 × 2 = 20
Similarly,
5 × 3 = 15, 4 × 3 = 12

59. CÎma : 2

ñnîQ>rH$aU

   

17
31

5

3 4

22
?

8

5 9

31
23

5

8 45

     (1)                 (2)                    (3)

From fig. 1  17 × 3 - 5 × 4 = 51 - 20

= 31

From fig. 2  22 × 5 - 8 × 9 = 110 - 72

= 38

From fig. 3  31 × 8 - 5 × 45 = 248 - 225

= 23

60. CÎma : 1

ñnîQ>rH$aU

BA, GEF, NMLK, _____
AB EFG     KLMN      STUVW
  
CD   HIJ      OPQR

 STUVW   WVUTS

61. CÎma : 4

ñnîQ>rH$aU

Divide in four equal parts (Mma Mma Mo ^mJ
nmS>m)
abba/abba/abba/abba

62. CÎma : 3

ñnîQ>rH$aU

      9
3

7
3

49
7

11 11
7

?
11

14 14
11

   (1)                (2)                   (3)

From fig 1) 3 × 3 = 9

From fig 2)  7 × 7 = 49

From fig 3)  11 + 11 = 121

63. CÎma : 2

ñnîQ>rH$aU

àË¶oH$ column Mr ~oarO hr 63 Amho.

 20 + 19 + 24 = 63

25 + 21 + 17 = 63

18 + x + 22 = 63
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PSI / STI / ASO

1. Oa '$' åhUOo '+', '#' åhUOo '', '@' åhUOo ''

Am{U '*' åhUOo '', Va 16$4@5#72*8 Mr qH$‘V
{H$Vr?

(1) 25 (2) 27

(3) 29 (4) 36

If '$' means '+', '#' means '', '@' means ''

and '*' means '', then what is the value of

16$4@5#72*8?

(1) 25 (2) 27

(3) 29 (4) 36

[STI Mains : 2012]

2. Oa 4 × 5 = 15, 7 × 8 = 48 Am{U 6 × 5 = 24,
Va 8 × 4 = ?

(1) 24 (2) 26

(3) 28 (4) 30

If 4 × 5 = 15, 7 × 8 = 48 and 6 × 5 = 24, then

8 × 4 = ?

(1) 24 (2) 26

(3) 28 (4) 30

[STI Mains : 2012]

3. Imcrc g‘rH$aU ~amo~a ¶oÊ¶mgmR>r H$moUVr XmoZ J{UVr¶
{MÝho AmnmngmV ~XcUo Amdí¶H$ Amho?

12  2  6  3 + 8 = 16

(1)  d + (2)  d +
(3)  d + (4)  d 
Which of the following two mathematical

signs need to be interchanged to make the

given equation correct?

12  2  6  3 + 8 = 16

(1)  and + (2)  and +

(3)  and + (4)  and 
[STI Pre. : 2013]

4. Oa 56 + 7 = 8; 17  5 = 22; 19  7 = 12
Am{U 9  6 = 54, Va nwT>rc amerMr qH$‘V {H$Vr?

121  11 (891 + 11) + 9  3
(1) 2783 (2) 2785

(3) 139 (4) 137

If 56 + 7 = 8; 17  5 = 22; 19  7 = 12
and 9  6 = 54, then what will be the value

of

121  11 (891 + 11) + 9  3?
(1) 2783 (2) 2785

(3) 139 (4) 137

[STI Mains Jun. : 2014]

5. Oa 3  2 =  26, 6  4 =  40 Am{U 5  7 = 
22 Agoc Va 4  2 = ?

(1)  34 (2)  43

(3)  36 (4)  42

If 3  2 =  26, 6  4 =  40 and 5  7 =  22

then 4  2 = ?

(1)  34 (2)  43

(3)  36 (4)  42
[PSI Pre. : 2014]

MPSC-Pre, Excise, 
Combine-B, Assistant 

6. nwT>rc ~oarO Vº$m gË¶ R>a{dÊ¶mgmR>r W ¶m McmEodOr
C{MV n¶m©¶ {ZdS>m.

Arithmetic  Logic39
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Y X W Z =

W X W Z = 57

W X Y W = 59

Y Y Y Z = 47
= = = =

56 53 56 49

(1) 9 (2) 11

(3) 14 (4) 17
Choose appropriate option to replace
variable W to make following addition table
true :

Y X W Z =

W X W Z = 57

W X Y W = 59

Y Y Y Z = 47
= = = =

56 53 56 49

(1) 9 (2) 11
(3) 14 (4) 17

[Assist Pre. : 2013]

7. Oa + åhUOo dOm~mH$s

- åhUOo ^mJmH$ma

 åhUOo JwUmH$ma

× åhUOo ~oarO

 (16 + 4)  (8-4) × (12 + 10) = ?

(1) 30 (2) 40

(3) 26 (4) 24
If + means substraction

-  means division

means multiplication

× means addition

 (16 + 4)  (8 - 4) × (12 + 10) = ?
(1) 30 (2) 40
(3) 26 (4) 24

[Asst. Mains : 2015]

8. dUm©jam§À¶m JQ>mgmR>r dmnacocr à{H«$¶m àUmcr Aä¶mgyZ
[aH$må¶m Mm¡H$Q>rV ^aÊ¶mgmR>r AjaJQ> {ZdS>m.
dVw©im§{H$V g§»¶m à{H«$¶H$ AmhoV..

CTNV

ATNV 1 VTNA 2

IJW

VTMA

IIW

CTMA

3

DLG 2 1
(1) GKL (2) KDG

(3) GKD (4) MDK
Study the operation system that is used for
group of letters and select the group of
letters to fill in the empty box. Encircled
numbers are operators.

CTNV

ATNV 1 VTNA 2

IJW

VTMA

IIW

CTMA

3

DLG 2 1
(1) GKL (2) KDG
(3) GKD (4) MDK

[MPSC Pre : 2016]

9. nwT>rc g§»¶mË‘H$ amer ~amo~a R>aÊ¶mgmR>r Á¶m J{UVr
{MÝhm§Mr AXcm~Xc H$am¶cm hdr Ë¶m§Mr OmoS>r Xe©dUmam
n¶m©¶ {ZdS>m.

4 + 2 - 4 × 9  12 = -22

(1) + Am{U - (2) × Am{U 
(3) - Am{U  (4)  Am{U 
Select the option that gives appropriate pair
of mathematical signs that need to be
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interchanged to make the following
numerical expression correct.

4 + 2 - 4 × 9  12 = -22

(1) + and - (2) × and 
(3) - and  (4)  and 

[MPSC Pre : 2016]

10. Oa dOm () åhUOo ~oarO (+) H$aUo, ~oarO (+)
åhUOo dOm () H$aUo, Jw{Uco () åhUOo ^mJmH$ma
() H$aUo d ̂ mJmH$ma () åhUOo Jw{Uco () ‘mZco
Va Imcrcn¡H$s H$moUVo g‘rH$aU ~amo~a Amho?

(1) 30 + 5  4  10  5 = 38

(2) 30 + 5 + 4  10  5 = 23

(3) 30  4 + 4  10  5 = 62

(4) 30  5  4  10 + 5 = 20

If substraction () means addition (+),
addition (+) means substraction (),
multiplication () means division () and
division () means multiplication () then
which of the following equations is correct?
(1) 30 + 5  4  10  5 = 38
(2) 30 + 5 + 4  10  5 = 23
(3) 30  4 + 4  10  5 = 62
(4) 30  5  4  10 + 5 = 20

[Assist Pre. : 2016]

11. Oa 2  8 = 20, 3  9 = 31 Am{U 5  8 = 44,
Va 30  5 = ?

(1) 150 (2) 154

(3) 158 (4) 145
If 2  8 = 20, 3  9 = 31 and 5  8 = 44, then
30  5 = ?
(1) 150 (2) 154
(3) 158 (4) 145

[Excise SI : 2017]

12. àXoemVrc dZñnVtÀ¶m Aä¶mg H$aÊ¶mgmR>r Mma {‘Ìm§Zr
JmS>rZo {d{dY {R>H$mUm§Zm ̂ oQ>r {Xë¶m. Aa‘mZZo ¶wZwgnojm
OmñV Vmg JmS>r Mmcdcr Á¶mZo ghm Vmg JmS>r
Mmcdcr. ES>dS>©Zo OmVmZmÀ¶m àdmgmV AmR> Vmg JmS>r

Mmcdcr d VodT>oM Vmg naVrÀ¶m àdmgmV JmS>r
Mmcdcr. Ë¶mMm JmS>r MmcdÊ¶mMm H$mi hm ¶wZwg d
Aa‘mZ ¶m§Zr JmS>r Mmcdcoë¶m EH${ÌV H$mimnojm
OmñV Amho. H$mdgZo Aa‘mZnojm H$‘rdoi åhUOo AmR>
Vmg JmS>r Mmcdcr. Aa‘mZZo {H$Vr Vmg JmS>r
Mmcdcr? ¶mo½¶ n¶m©¶ {ZdS>m.

(1) 8 (2) 9

(3) 10 (4) 11
Four friends have visited different places for
studying the flora of the region by car.
Arman drove the car for more hours than
Yunus who drove for six hours. Edward
drove the car for eight hours during the
forward journey  and for the same number
of hours during the backward journey. His
total driving time is more than the combined
time of Yunus and Arman. Cavas drove the
car for eight hours less than Arman. For how
many hours did Arman drive the car? Select
the proper option.
(1) 8 (2) 9
(3) 10 (4) 11

[Excise SI : 2017]

13. Oa "' Mm AW© Amho "', "' Mm AW© Amho "+',
"+' Mm AW© Amho "' Am{U "' Mm AW© Amho "'
Va Imcrcn¡H$s H$moUVo g‘rH$aU ~amo~a Amho?

(1) 15  5  5  20 + 10 = 6

(2) 8  10  3 + 5  6 = 8

(3) 6  2 + 3  12  3 = 15

(4) 3  7  5  10 + 3 = 10
If '' Stands for '', '' stands for '+', '+' stands
for '' and '' stands for '' then, which one
of the following equations is correct?
(1) 15  5  5  20 + 10 = 6

(2) 8  10  3 + 5  6 = 8

(3) 6  2 + 3  12  3 = 15

(4) 3  7  5  10 + 3 = 10
[Combine Pre. : 2017]


